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1. a® & 0 Ppwsda aned sy, &L LIUG
A) (Smmrrw‘mmm— @usgarflar waauflows Cereamgmés Coesm@Hib
B) Ogrfibheraeulsr apasuflanus Qameong mes Caicor@id
C) udla sees peaflwus Carang mee CoustorHi

D)  goaon s weeaullows Qe ®mss GeuanHid.

. - A joint stock company's letter head must by law have the address of the
A) Managing Director B}  Factory

] __/'ﬂ L
6" Registered Office D) Head Office.

2. | 10 Hipwd Glswpens HUITSHS HEHSUUL & STFEDID
A 25 Qupsssurer pufldr 2_@meugams Qupdimssaiaame
B) dduodippde sper 55 apses QeThss Guerg
C) oIl urtéasab CQFT Geyab @uerrg
D) &g sl Lpderug elumisgereng.
A company is called an artificial person because
A) it does not have the shape of a natural person
B) it cannot be sued in the court of law
C) it ts invisible and mtanglbleQ
/ it exists only in -contemplatlon of law.
3. geaepbame aeaUg
. A) m&&?ﬁ]uﬁ]@@@ eeuliysaend CaTmd G 2y eueasiiD
B)  wésalbphg ubgs@bera Callameas Gammb o a;_},mmfo

C) wéselLblpha LAGSEHGD, s LEHThemsed Goldmear arGaibHen
P 246D

‘D) @ SjeerH .

-
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A prospectus means any document
A) ' inviting deposits from the public
B) inviting offers from the public for the purchase of shares

C) inviting offers from the public for tﬁe' subscription " of shares and

debentures
i all of these. y =
4. lﬂebfcu@m b HIDLRIGET SHelsd N&HessHE wTHn K& s &mﬁplﬂ-&&, GeuedorHID
| A) 5&';::'1]6\)1_1_5]&@6.» Qeuefil Refrer, Blpiold
B) asscueléans CeusfllLrg Gurg Hliguobd
(&) BT B euengwenD HINIOD
D) @ SemerHgib.
Which of the following companies must file é statement in lieu of prospectus ? .
A) A company which has issued a prospectus
/ A public company which hias ﬁ.ot_is_sucd a prospecius
C) A private limited company

D)  All of these.

5. SpsadiL eursdunieaend euad] :
Fahm) (A) ;G Qurg Blowd ULgui A ew G Glewspenn JLTS: FHnIé
e melremevmid,
&ryeoord (R) . 6hs eedyuenD Hipoepd Ulgwe A eow ghnd Oemsietei.

& P Geiren GBI g6 sflures oﬂs&mmw&, G’g,ﬁ,@gs@ /
A @) sf gyeme, ®) pap |
B} (A paup ieimes, (R) &l
C) {A)-LDljJQJL'D (R) @)resor(®id )
D) (Alwbpbd (R) Fas@b semy.
335210_

www.upscstudymaterials.com

a2



: www.upscstudgmaterials.com PGCM

Consider the following statements :
Assertion (A) : A public company may adopt Table A as its articles.
Reason (R) : Any limited company can adopt Tabie A.

* Now select your answer according to the coding scheme glvén below :
A) (A) is correct, but (R) is wrong
B) (A} is wrong, but (R) is correct
C) ot_h (A) and (R) are correct

Both (A) and (R) are wrong,
6.  Udraupeuieupidles argenes et Gl @ wrpid Qelwerd 7
A)  eovly e g6 ) B) ssuadsas
C) G\&@é:@mto g D) @euppsh agafieeme.
Which of the following can be changed with retrospective effect ?
A) Memorandum of Association B)  Prospectus

/Z{ Articles of Association D) None of these.

7. ulguwé I g/ mlgide DI el .Gh_n@;'s,fl. F3 5 GinrpEainFerm goli@samend
Qaresor@ sflures el owd CaibOa@® :

uiquée I uigwen I
a) -Lﬂlq.EIL{ Hlguod 1. aél;rauz'_m'o 50 2_pu et aelt
b) =g Hipwd 2. @eoppsuied 7 e glllanser
¢} Qurg Blpuob 3. ued Qurg, usd e sTTHES
d) il Hipob 4. Qgmflé @e;nmnﬁq.
GBlGser :
a b c d
A 1 2 3 a4
.B) 2 1 4 3
c) . 1 3 2 4
% 4 3. 2 i.

335210 A ' [ Turn over

www.upscstudymaterials.com



www.upscstud)ématerials.com

PGCM

Match List I with List II correctly and select your answer using the codes given

below :
List I _ ‘ List II
a) Holding company | 1. Maximum 50 members
b)  Government company 2. Minimum 7 members
c) Public company | 3. ‘Partly public, partly government
d) Private company 4. Business combination. |
Codes : - ' )

A1 2 3 4
B} 2 1 4 3
c) 1 3 2 4

P 4 3 2 1. e

8. ulgud I @ uwepud Iz ar Qurssd  £Qip. QuerGasiy erer gdiGesomens
Qanei® sflurer aflsoLowug Carpoled :

UL igwe I : ucigwé X
a)  Houhsefler uleurent 1. @dodice @566'@5611
b) ey ailg) . 2. Powsdeér sl St dse

c) Ukgswend Fmbu urhigsh 3. | ufayd srey
d) Qewdpenn aldlaer 4. pposdear ePeGarer. .
e : o
a b c d
A) 3 4 2 1
B) 4 3 1 2
cy - 3 4 1 2
D) 1 2 3 4.
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Match List I with List II correctly and select your answer using the codes given

below :
List T List II
a) Registrar of Compahles o 1. Specified securities
b). Memorandum 2. Rules and regulations of the
company
- c) Buy back of shares 3. Certificate of incorporation

d) Articles of Association 4. Objects of the company.

Codes : |

a b c d
A 3 4 2 1
B) 4 3 1 2
9)/3 a1 2
D) 1,253 4.

9. oD odeg AHHHG CwhulL apheheEse GG Hig  Hosuaidsre
Qeuaflliltiu@bd goeuds Péans :

A} Qedrl gaas osas

B) = Qg -Qapfi geaé sflédoma

C) 2amsHssHae Abaa

D} ook N&0&6E LTHY . SHEHms.

A prospeetus issued by any financial mstitution‘ for one or more issues is
A)/ Shelf prospectus B}  Red-herring prospectus

C) Deemed prospectus D) Statement in lieu of prospectus.

10. 878g 66 & LY. G QUEGSTHEST GFI LEGseNeT o edaretliéams )

A)  GoDHBE GO UEG B) ©®Dpbed BID UkGsT
C) Gonhas 2UTb UiEs e D) @obbss mbsTOyb LGS,
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The number of qualification shares for a director as per Article 66 is
Z”/ at least one share B)  at jeast hundred shares

C) at least thousand shares D) at least five thousand shares.

11. deéraugeueneupilée abg g S@wiy wen g@ éfﬂMWﬁ.QUW(@fbé]MQﬁﬂT@ ?

4) ulguweé B - R  apegeTd  @léderiog a.&,é]gcurré&g,rre‘u
‘ cuemiwenp Qelwiul L Hlgob
B) ulgwe C - UkE PaFOTSHLET 2 SHiTarssene aemTLeEM
Qe L Hlpoibd
C) ulgwe D — LkG QPOSITHHT euaFuep Qe lwinl L i
D) ulgwe E —_ aueyuerniiidsest Blpoi.

Which one of the following Memorandum form is correctly matched ?

A) TableB — Company limited by guarantee, not having share
capital
B) TableC — Company limited by guarantee having share
carpital '
C) TableD — Company limited by shares
-
/p;/ Table E - Unlimited company.

12. & Qurg Ppwsdla Qurss Birars smdud .-
A) ey Gerusdle 10% &e Cud Hlas sl gy
B}r hiar Gerugdlé 11% &g Cuwe fleé e mg
C) &y Gerusdlés 5% @ G Hlad sarg
D) ey Gerupdlée 15% && Cod Has sarrg.
Total manaéérial remuneration in a public company cannot exceed
A) 10% of the net profits
g( 11% of the net profits
C) bB%of the net profits

D) 15% of the net profits. |

335210
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13. oG Ourg esyuesp rn';]rcmmm d]mm@m@ﬂmmﬂm srgf,fy@u Sesterrs  Qpimfleneug
GlgrLhserd 2

A) 2 mersss sranhlpp Cupp e
B}  Qamifle QL ks sresidipp Cupm Sebr
C) oWl (Ppeoné sTEaSangs swmilEHsey e
D) Qewdipen aldasamers &wr‘rlhtﬂég,cql_cér.
A pubhé limtted company can start business ixnmédiately after
A)  getting certificaie of incorporation
B | -'getting certificate of commencement of business
C) filling Memoréhdum of Association
D)  filling Articles of Association.
14. @ g« Blpnd

A) el 0ug BLHB Couadigu sal L He05 BLSHH @g,smmjuﬁls'\)méa
B) Qg @& sl L Hog DLHBS (‘o’gcmmuﬁ\d)ems\)
C)l QUSHGEIT GPE Sl L HenG 5;555 Cremeuiiveney
D) ahgd sl L Hosud 6LH5E Gaasulldamnem.
A private company need not held .‘

}}.ﬂ/ | Statutory meeting . B)  General meeting
C} . BOD meeting D)  any meeting. |

15. s?gaé,aas'ml_ FoDDIBeneT Qs _
L geh Hipod ST LGS LTHDLDSS &L QUUBSHFIDS.
. el Hpwbd 2ol acaafsasou 50 e msmr;ru.:@e'ﬁaﬁ]gog,j.

1. sel Howb s Lagasila wpaelh Cedwr @LJITQ] m&,&@&@ a@@uq
alPeudlevemen.

V. geafl fpgwd @bdurales 2 eier gamaig G LkGS &;r)emgsufﬂeo DBt
ukiGaseen L guall.. CeuassHio.

Gleupoyet :
A) Il Hib sflwrerg _ B}  Iwpgyo II sflwreneneyn
C) 1, Il wpmb I efurereney D) - goarsgn sfluraraneay.
335210 | | Turn over
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16.

17.

Consider the following statements :
L Private company restricts the right to transfer its shares
I Private company limits no. of members to 50

HI. Private company prohibits. invitation to the public to subscribe for
any shares '

IV.  Private company must be a listed one with any of Indian stock

exchanges.
" Of these
A) I alone 1s correct ‘ B) 1&II are correct
l@]f I 11 .&'III are correct | D)  All are correct.

Nssteu@id 6ihs euaswures guuapapdleds alflgrésny aaussd Jauppliv@eng ‘

Al GODHS eTey él_'.IUL'D _ - B) @ep spuiLid

C)  deos giub D) smgmyem glub.

In which of the following subseriptions, pro rata éllotment is followed ?
Minimum subscription B} Under-subscription

9/ Over-subscription - D) Normal subscription.

tﬁlwrm@cusmcumrﬂm THE D HLET u&élmﬁaeﬁ QeueNOGeugperar @N&Gare
L

A)  yw b 2 G@ uttrERSe

B)  ouweld 2 eften £ Lhisefler alfleurdsid ideg THDD

C). BeIRIOTESHYIGHTET ST (pagand Geeeailebieer

D) poLops Q&méq&smmé FhHée.

Which one of the following is not the object of issuing debentures ?
A)  Setting up of new project

B) . Expansion or dlirex;slﬂcatlon of existing projects

C)  Normal capital expenditure for modernisation

re
yf Meeting the operating expenses.

335210
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18, wlgwe I @ uigud IO 2L GQurisd, &G Cerpssiu@eae @illhsmens
Qerean® sflure ol _ows Ceipdlsd : ‘ :

Ll igwen I uLgwé H
a)  Jeewmw '(ngrré;@ : 1. Sluys sLer ugdlon
b) gﬁlmmf@gs&xmm Grrée 2.  Slpaeud st updlyh
c) argufleow Crrée 3. Qemeomiueut sLe ugdlrb

&) udCeaupset Crrés 4, pse ST LGHSITD.
oot : o

a b c d
A 2 1 4 3
B) 1 2 3 - | 4

C) 1 3 4 2

w

D) 1 4 2

Match Lict )V with -List I¥ coriectly and selectyour ‘answer using the codes given

below :
List I ‘ List II
a) Security point of view 1. Redeemable debenture
: 5) Permanence point of view 2. Naked debenture
c) Priority point of view 3. Bearer debenture
d) Records point of view 4. First debenture. |

Codes :

-

A 2 1 4 3

B) 1 2 3 4
C) 1 3 4 2

D) 1 4 2. 3.
335210 | [ Turn over
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19.  Jereugeuereupdles erphs spetmy 2 off Bifeurs Qarsimsdsr afldlafievse e 2
A popupp Hoe SPibdbsse |
B)  &euetd @emmey
C) Glgniésib (pse seupmet whnb Cursy
D) slLd By Qewd.

Which one- of the following is not an exception to the doctrine of indoor
management ?

A) Knowiedge of irregularity
B} - Negligence
C)  Acts void ab initio and forgery
D) ~ Ultra vires act,
20. (Qurrg; LG WISHHD @@ILDIED ehsL Lhigaanar Oeusliulleomb :
L G HTIO0TLI Lk
0. werguflenod Lk
. Vel 87 57 T AU L LI 8)

V. afpfloassiull. URg. ,

@leubyye :
A)  Twl®d sflurers ' BY Iwhmid 1 sflurerene
C) I, Il opmid I sfurestaeu ' D) Sevarsaid sfluraraa.

A public limited company can issue which of the following shares ?
| I Equity share
II. Preference share
III. Sweat equity share

IV. Deferred share.

Of these
A) I alone is correct B) [ & Il are correct
2’""1‘ I. II & III are correct D)  All are correct.
335210

www.upscstudymaterials.com



www.upscstudymaterials.com
13 PGCM

21, dereumeueraupiies erhgé sl L b @ Hmwob sl (b (pse QUITHISS WS Enl LD 2
Al @R QUTHEG S Gl LD B)  Soiyl QuTgis@pé sl b
C) esloiyied el ib . D) Qus@erT gl b.

Which one of the following meetings is the first general body meeting held by the

company 7
A) Annual general meeting B}  Extraordinary general meeting
/C{‘ Statutory meeting D) Directors’ meeting,

22. uﬂ@Dﬁ&aﬂLL&@&,@ Qfﬁl@mefr LS Qe lieuBDETET &TiyeorD i
A)  ggraug pauaemt CEqISSILL TG G)hHHSH
B) uUhgseend SHDL euThs
C) uhgsmerd Hphus Cloass
D) uk@gsestd SmHodu euafil .
Shares from the shareholders are forfeited because for
M/ non-payment of any instalment amount
B}  buy back/cl\shares ST '
C)  redemption of shares
D) reissue of shgres. | -
23. @p&setiL euThluhinanstd seue) :

Fadmy (A) : QuUTg  wHEEHSGL  ukGsd Orressdbers  GeueNdlIuhin
ourws, Geueifsd SEaTHHD souMBiHmaY T ) dHsl
Gleuefllltiu. GoucrBb. SHallses WoeESHTT GG QUITH
(e pUIL.

sifemd (R) : poaadldoms @ed  bEsERES - B DDWD  UbGsaen
QeuefllLTés g Hlpues s1 Loy Bhlu Clewé.

&8 @I Peiren @Hhi gd sfluren eles awg CaibOsE

A) (A Lorj)@u.b (R) @resor®io &), Guoenb (R} ererug (A) afihe sflurer eferéen

B)  (A) wbnib (R} @uesai®io &fl, Gugub (R) eretugl (A) elbe sflurer allenéaweie
C) (A efl, geméy (R) peuny

D) (A geup, Syaré (R) aifl.

335210 ‘ | [ Turn over

www.upscstudymaterials.com



www.upscstudymaterials.com

PGCM ' 14

Consider the following statements :

Assertion (A) : When shares are issued to the public for cash, every pubIlé:

issue must be accompanied by an tssue of prospectus. The

prospectus is an invitation to public.

Reason (R} : A company offered the shares to the public without issuing

prospectus. It is a violation of company rules.

Now select your-answer according to the coding scheme given below :

Y :
.1 Both {A) and (R} are true and (R) is the correct explanation of {A)

JB)- ' Both (A) and (R} are true, but (R) is not the eorrect explanation of (A}

C)  (A)is true, but (R) is false

D) (A} is false, but (R) is true.

24.  ofevremiiius e Gurgi Cegips Goauamyu uLeaobd GBbes GeDaTs: B\m&ss
Gl TG ' | ' '
A)  uREEN (PPASIR-E%S | B)| © Lkl seodinge 10%
C) uhder wandinle 15% D) ukdler wendintie 20%
The amount payable on applic'atién sﬁall not be less than
9}/_ 5% of the nominal amount of t.;he sharé‘
..B) 10% of the nominal amouht of the share
C) 15% of the nominal amount of the share
D)  20% of the nominal amount of the share.
25. LRGE FTSTHISBD SODHS L&D
A} g6 Qusgatyré gl U Geue®b
By @Quen® @m&@s&r’r&smné\) sl Geustor(Bid
C) Q6 Quesst LHD GlewerTe }@DUL&L_CJUL Geuetor(Hib
D) @ QusGeiaet whHnbd Gewerme sprubltiue GeuadsT(ib.

335210
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The share certificate shall be signed by at least
A) 6nc director B) two directors
C) one director énd the secretary D)~ two directors and the secretary.
BPpe&STTL. SahpiGeen i : 4 | ‘_ |

1. LIl g & 6l gguﬁ@uq&,@ sUL(peD FJLgd HDwdldbasiu’  Gunss

@euesor (Rib
. epoipuy Geiwghe e yPlalsams swuiiifises Geueor@ib.

. @Quégpies ©uod gpolpliyssrs dioragoas BHopGaubp
Geuetor(Rbd

V. amLrpdly @u‘rr@éé' Guele gpuilpliysares srgmrexs  Firoreb
@mm@mfpmﬂug CouwoQd eraTug 2&Swmeudlunm@ib.

@euhpet :
A) Tl @b sfuremg B~ + lodninl B sflumenaneu
C) I Hwppod I sfurerae D) saiggd sfluraianea.

Consider the following statements :
L. Forfeiture must be authorised by Articles
II. Notice must be sérved before forfeiture
IIl. A Board resolution must be passed for forfeiture

IV. An ordinary resolution at annual general meeting is necessary for

forfeiture..
Of these
A) I alone is correct - B) I & Il are correct
?f “Ln&m are correct D) Allare correct..

. 335210 ‘ | Turn over
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27. QubsGHIsT G Sl GODHIULFD BNIGDE o, BLSSULL.
Geueony wg. |
A)  aBLHHIDG G (oD B) | aupLpgihe QraTh weap
O aupLsdbe weap wop D)  aBLEHDG BréIe Wop.

Meeting of Board of Directors shall be held at least

A) once in a year B) twice in a year

0] thrice in a year D)/four times in a year.
28, o6 ourg Blnwd CQursis GW E:IM.'_I_L'DU BL-$5 HDGHeme: Geuelll. Couamgy sHTevé
Qa® 7 '
A) g BIL&er | B) uglaTresE HrL_ser
C)  @ousHwurm BTiser | Dj é_LpLu_ng BT Ge,
. A general meeting of a company may be called by not less than
A) 7 days notice o B) 14 days notice
9)/ 21 days’ notice | D) 30 days' notice.
29. Spbamcti snbhnisener s | o
L @ ot grorarddle aped G GUHLD HmessILL D, |
. Qagmples Ogmis g;@jmil QuHD B uBLSFDGT elwrurgi
QgrLhsliuLralllLme, g Bipeuatd &areheHluL eurD.
HL  siL fdurer sfléms soilésiuiralliime ombs Hlpsuerd
&0 HSHLILIL_SVITID, ‘7
V. §GESI’@_I6{’S)L_I:LI Qurpliysener ( &Larsoear ) Oegbs seublamme
5600 SLILIL 6vTiD.
@\eupbmiern :
A)  Tol @b sflurerg ‘ B) Iwpmd I #flurerenel
C) L Uopms I sfuretae D)  opmenggib sfuratemel.
335210
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Consider the following statements :
L | By special resolution, a company may be wound up.
I1. If the company does nb‘t commence its business within a year, it may

be wound up.

II.  If default is made in delivering the statutory report, the company

may be wound up.
IV. If the company is unable to pay its debt, it may be wound up.

Of these

A) I alone is correct . 1 & 1l are correct
C) I, II & Il are correct /I/ "All are correct.

30. ©® GULD soaEsLUGD Curg L ED Carpd WPHeN&HE b
A} eTETH LRI (S B)  werefleow ukig wpee
C)  g@sslulL (pse ' D) S@wodléslul L (peev.

Uncalled chpital'\of al condpany, which/ Can beledlléd ¢aly 4t ¢ time of winding

up is
A)  equity capital B) preference capital
) reserve capital D)  authorised capital.

31. eflenbursgibaTet pHlenes &ryewser
A)  8aps DHOID HTEET] &ryasel
B) sl fduret snyeisen
C) @.ufr@enrrrrg,rrg STy eooT &6l
D) l@smsu S{EN ST HFID .

The environemntal factors of advertising are

A)  social and cultural factors "~ B) legal factors
C) economic factors P} all of these.
335210 : [ Turn over
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32. ellururrsgiseh EDNIGRBO@sERHGD & pée 6o &@&,gjcmq&;eﬂ@ ag Coirées
QueTSg 7 . .
A) gD Qe sTihgt QBSHe
B)  bTD&GnIg wWemeL
C]  &#aps wThHDhRSET
D} dleewreasemeu.

Which one of the following cannot be included under the nature of relationship
between business and environment ?

A)  Interdependence B) Dynamic
C)  Social change /Di/ Fixed.

33. sawps GpHlae eﬂp[aqgs&;mmssaﬂe’u' Sgkpé:E:GWLGG)GUB‘:GﬁG'\)‘GTg] SipSHurendlunmest g)

@evemen 1

A) &@q wHnih seelifier Bg opflwrend (Siflubd, gyoe )

B)  swe 2bsevg

C) | Qo g emen & eamebdr mqb@m wrhphsaiar padludgied

D)  asrilS@.

Which of the following is not an essential feature of social environment ?
“A) Love for knowledge and education

B) Social status

C)  Importance of change and experimentation

(O/ Insurance.

34. @@ Pyeuarsdar 2. pusd sPefssan eaGalrflar psmeoplouyd Gup
| Fp&aan_meauseios qag sy s CeudmGn ?

A) seoeawdled em&ssb
B) uaGspudler aped aaésd GLmse
C) eh&Caredise apob 268 bGILNISE

D) . seaurdeel cpeTs as1sHed ClLmFe.
335210
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An ent.crpriéc gets more output and mutal co-operation from its subordinate
_staff by adopting
A) motivation by leadership ﬁ’l/ motivation by participation
C)  motivation by goals 7 : D)  motivation by challenge.

35. dpsaci abs Qarfiheranas genrs braLPse siflswnrs o erarg ?
I &Cwebr.
I gyerd feir Parewid
IIl. stéaen ol
. ednGemi amwﬂuuu@m

@eubpeT 1
A)  Tol@b sfurery _ B) Hupmd HI sflurerene
C) L Il whod I sfurerenau D) Seearpgid sfluraraa.

Which of the following is the heavily polluting industry ?
L. Cement
IL Thermal power plants
11,  Sugar
IV. . Otl refineries.

Of these
A) 1alone is correct | Il & III are correct
C) L I1 & Il are correct /{.'/ Al are correct.

36: Guiué QuTmermgTy &by @gp[é’lmmuilc&r WHEW SapyaenT e
. Qur@enrsmry Syeowiiy l

0. OuTGETSIY s L Risel

. GQurmerngry ﬂl'_.I_L&L_é.\l

V. Qumrmenrary S sPéemase.

2

Qleubpsst :
A)  lopgd O sfuraree B} L wbgd IV sflurerenay
C} 1, Dwpgd I eflureraesey D} Semanggibd sflurearene.
335210 _ [ Turn over
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The'critical elements of macroeconomic-environment are

1. Economic system
II. Economic legislation
[II. Economic planning

IV. Economic policy statements.

Of these
A) 1 & 11 are correct B) II & IV are correct
: B -
C) L 1I & IIl are correct ' }}}/ All are correct.
37. &by Gpplow e o |

L= CrTéEGHe

. scuerafgse

M. qpest aaawﬂ&,g@

V. | odude Qeisd
@leuppue :
A1 whpo I eflurereneu | B) II wpmyd IV eflurerenen
C) L Il wpgd HI efluretene D) Ig{emanggulb gflwirsreneu.
The process of environmental analysis is

L Scanning

o Monitoring

IIII.‘ Forecasting

IV. Assessment.
Of these
A) I & II are correct . B) Il & IV are correct
C) 1, 1 & lil are correct 17 ?a/ Al are correct.

335210 | |
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38. ulgud I (&bpd Gl srrafisd ) o ulqud O ( Aply gdranoseh ) 21 e
Qurmsdl, #Cp Carpdhaiul Qerer GRPamerd @s.rrmr@ sfluresr afleLemug

Carpola® :
U wée I Ul I
(sppé ephleoe aryafaar ) | ( Hlpliy geremwsei )
- a) G\urr@mrrg,'rrg & 1y el & elt w0 Y euenfrédl yemwliy
b)  erfluse sryeiser 2, félgjmgjtﬁ]ah_urh@
c) FPF/BTEEN] SHrTaiiselr 3. SHUTESTID &SN
' ' 2 peurdhGding
d) Qubwme srjadileer 4. QGursgarsg yaldwedlen
sryeast Bz snihg
2 efteng.
R |
a b c d
A) 1 3 4 2
B} 1 3 2 4
c 1 2 3 4
D) 4 3 2 1.

Match List I { Environmental factors ) with List Il ( Their features ) correctly
and select your answer using the codes givén below :

a)
b)
c)
d)
Codes :
a
A) 1
B) 1
A
D} 4
335210

( Environmental factors )
Economic environment
Poiltical environment
Sociocultural environment

Natural environment

w oMW oW

NOWwWN e O

List I List I1I

('Their features )
Growth strategy
Role of judiciary
Culture creates people

RN~

Transport depends on
geographical factors.

— N R

[ Turn over
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39. uwiguwée F(alurury gpfloadé o smoigaer ).gp utquid I ( el sagssh )
cve e Qurisdl, #Cp CEerdsslul@erer  GPlifsoms Qeran® sfure
dle_sowug Caibbls@ :

ur'_q._ué; | . ulgwés I
( flwrury GpPloeie 2 soiyser) . (eleapiset )
a)  ewe epboe srpeise 1. alfliyestey whpd
L . Blwrukis e
b) swdusk sryesiser 2. & @ured
¢) Our@erTgry Hyeise 3. SWeBTLE aureilu
. y Qagipgitione
d) SFyeowiy smefash 4. wppfew wppb
v SLAUUBSESD s L
BL6LILY. &N 8 &6TT .
eolRsst ;
a b c d
A1 2 3 4
B 1 2 4 3
C) 4 3 2 1
D) 3 4 1 5.

Match List I (-Components of Business Environment ) with List I} { Factors
of Components ) correctly and select your answer using the codes given below :

List I List II
( Components of Business Environment ) ( Factors of Components )
~a)  Social envlromhent 1.  Awareness and work ethics
b)  Political environment 2. Packaging
c) Economic environment 3. Balance of payment
d) Regulatory environment 4. - MRTP. '
Codes :
‘ a b c d
/A’J/ 1 2 3 4
B} 1 2 4 3
c) 4 3 2 1
D) _ 2 1 4.
335210
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40. dpsacu. cursduhsameand aeu :

sabmi (A) i @tj,é]w. QuTmeraEnéE Ceuslipr@ &ﬁang,s.aﬂéa @i sy
S samg.

syed (R) @ 2 eiprigéd piy Gewa Qur@emgrysomg wperGarbpead Gugid
"Quefipmiig sir &u@géu eurfl iy semio.

FC P I Getrer G g6 &lﬂurm allenL_erw ngm@g@

A)_ (A) wHpd (R} @esor®ip &fl, Gugid (R} ererug (A) @ gflumes QS]GW&&,LD

B) () wbpid (R) @edid &M, Gogui (R) sreinug (A) efib@ e allerésiee
) @ aif), Qe (R) geup) . '
D) (A seupl, syemmen (R) &l

.Consider the following statements :

Assertion (A) : Indién goods may not be able to find market abroad.

Reason (R} : The operation cost push economy at home and tariff in foreign
countries were adopted. '
Now select your answar-accerding vo the céding scheme given below :
|

AY"  Both (A) and (R] are true and (R) is the correct explanation of (A)

B) Both (A) and (R) are true, but (R} is not the correct explanation of (A}

'C) {A)is true, but (R) is false

D) (A)is false, but (R} is true.

41. c_ucuuﬂaa&mg, SLHUUBSHS STemus SLEUUTRSET SDSHGTIL SRS ST
- Gpeauurdlpg - . :
A) Q@gsd _ B) Qurg med
c) meTGeurt D) @eeu ée&»@&@fo.
Government regulation of business is necéssary in the interest of the
A) Nation B) Public
C) Consumers BT Allof these.
335210 | . , [ Turn over
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2 Ofleriisemée, @éun_.@m ghu®b @ aleraser  Cueud 2 fleshiser wHED
2 UirHn SeowiyseEr e ghubn @eoLalaaraamen uphiu 4 milié)

A alg@rarn Fide éa QgrenaGue

B) owrgu alwe (wefly aitbsgdler 21 /e dterd @b srihg eurembo)
Syrlsdigen ) |

C) &hpiup @prleeudiud
D) @6y sjremigitd.

A study dealing with the interactions of living organisms with each other and
with their non-living environment is |

A) demography - B) anthropology
Cl,f xecology D) - all of these.
43. seUy QurGeTTETID ereTg
- A) gCr soLUbHd Ceuermamgopyd  QgmHlhgienpyd G\urr@mrrﬁ,rrgg‘,éﬂe‘u
QAT ' Jigh
B) @gwwaﬂiﬂm@m / swgitw QurEeTsryapd QuUr@GeTTHTySdld @ULIkiE B
C) gallwrer whgd Qurgibgienn Hpuebaad et Gy Guigss
D) aipssorar popsad / ghete OpmpPe mpruwd werGar @b
Qur@enrarysdler e LGurdlgse. '
* The term 'mixed economy’ refers to .
A)  simultaneous existence of agrici.tlfural and industrial sectors in the
economy
B) a blend of capitalist and socialist creeds in the economic philosophy of a
country '
/’ N
(2/ co-existence of private and public sector in the economy
) use of traditional and modern technical know-how in the process of
developing an economy.
335210
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44. Qummenngrysdle Ufliy ereiug
A} whgb B)  Uleeoremiey
C) & . D) @leubmiet ergioyblévanen.
The turnihg pbinf from. boom condition is called
A) dep_ressién . }4)/ " recession
C) recovery ’ ' D)  none of these.
45, Qg,rr@s‘u a6 d) LHDID HLEHIUTEH 5 LD HeLPODGHES by Csd
‘A)  omité 8, 1965 B) iomfé 8, 1952
C) gtgey 12, 1972 D) gereufl 25, 1982,
Industries ( Development and Regulation } Act came into force on
A} March 8, 1965 , B»/MarCh 8, 1952
C)  Aprill2, 1972 D) January 25, 1982.
46, gaflvalgeaia es@aliss S L_hsalle petemnaer
L 2 husd é{é\&rﬂéﬁ& 2_HYHH ” .
. 2 husd @&sue;aaaﬁsw GODHS 2_FeH
III.l QenPoraisatd S Fnwmnilenn [alseessan  olGbussss
L orhphisenen §HLGHSIHE
V. olooeou e utes 2 seyse.
@leupguet : :
A) L Nwppod H sfurerene B) L I oppd IV sflurerene
C) Nlwppbd IV eflureremey D) SyoearggId A~
Advantages of personal incentive schemes are ‘ '
1 It helps to increase output
II. It helps to reduce costs
III. It has healthy effect on the morale and efficiency of workers
IV. It helps to increase cost.
‘ Of these _ B
A)//-I. II & III are correct B) L I1 &IV are correct
lC) HI & IV are correct D) All are correct.
335210 ” [ ’{:urn over
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47, SpssatiL amsdlutiseens s ;
Wb (A) 1 G WS TBEE® APlurs sGESILEATDS.

smyeord (R) : gk Gweldr leurhpeyib a;ujauaﬁmqtb gefivafigeatlar gbpene
L Aptures Eméeh erer BbUS. '

6 @uﬁ]uljt@eﬁm @rﬂuﬁ'_q.di sflures afleon_eowp CerpOs® :

A) (A Lngb.gjfa (R) @pedorpid &, Guoeid (R) aeiugl (A) alpe eflurer elendeb |
B)  (4) wppid (R) Q@b &, Guoguid (R) sebrug (A) elpe sflurer eflenéaiwden
C) (A &fl, g eomméd (R) e ‘ |

D) (A) geupy, ermev (R) aifl.

Consider the fbliowmg statements :

Assertion {A) : Group decision making is considered betier. |

Reason (R) : The knowledge and imagination of a group- is better than that of
an individual.
Now select your answer according to the coding scheme given below :

1

9): ’ Both (A) and (R) are true and (k) is the correct explanation of (A} |
B) Both (A) and (R} are true, put (R) is not the correct cxpkmatlon. of (A)
C). (A)is true, but (R) is false |
D) (A} is false, but (R) is true,
48. dpsaaoL cursHlutisamend seed :
&nmy (A) : Guereend ereaTLg) LS oG SS B PO
&.frgewn.‘n (R) : @a w;ﬂgﬁ&@&@aﬁf o_effen 2_pea|sener aqLaJua»l_tunmé, Claram_g.
- ECp @RI Geirer GO g & efurear elen_emws CsibOB@
A} (A) wHp (R} Gyem@id #f), Cueud (R) aretug (Al alipe sflurer allardan
B) (A) whpd (R} Gyem@d afl, Guoeub (R) eredrug (A) ol sflurer aflendawndio
" C) (A sfl, sLemé (R) geupy |

D) (A peup, yermes (R) sl
-335210
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Constider the following statements :

Assertion (A): Management is a human or social process.

Reason (R} : It involves human beings and interrelationships among them.
Now select your answer according to the codihg scheme given below :

AL ‘Both (A) and (R) are true and (R) is the correct explanation of (A)

: B} Both (A) aﬁd (R} are true, but (R) is not the correct explanation of {A)

C) (A} is true, but (R} is false

D) . (A) is false, but (R} is true.

49. dpsacoL aursduhisamend seuefl :
aahipy (A) D o6 uailow allafggs adug opueshtien geremo ! eSleurhimenen
‘ Gn.@jgﬁ;\).y

sryemib (R) : uafl  fleameod GOuSE - uvewrerfLO@ha olues  ereven
adliurtédps vbpbd SwueNow Cely GgemanuTer Sneisemer
efleufiggen.

&Cjp @il @eiren @il e &rﬁmnsar aleoLowug Carbs® :

A)  (A) whply (R) @yt edl Ewnayh {R}. e gl A)edhE sfuner allendah

B) (A whmb (R} Gyea®id ef), Gueub (R) eretug (A) elpe sfluren oSendmiode

C) (A) sf), gyemed (R) geup

D) (A) seuq, syeme (R) &) |

' Consider the following statements :

Assertion (A) : A job description defines what the job is and it is a proﬁlé of the
Job.

Reason (R) : A job spectfication describes what the job demands of employees
who do it and the human skills that are required.

Now select your answer‘accordlng to the colding' scheme given below :

Ay~ Both (A) and (R} are tnlle and (R) is the correct explanation of (A)

B) Both {A) and (R) are true, but (R) is not the correct explanation of (A)

C) (A} is true, but (R) is false

D) (A} is false, but'(R) is true. .

335210 < { Turn over
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50. ulguwé I o ulgwe II o & Qurpsdl. &Gy GerPestul Perer @dluilsamens

Qarem® eflurer el aws CoibOsEH :

a)
b)
c)
d)
GO Resr
a
A) 2
B) 1
c 3
D) 4

ucigwé I
Guevresorentd Lewna el

leyeT&HEDh LeRael

plieurs Qewes uewilasi

GeuresTanid LicwoT &afr

b c d
3 1 4
2 3 4
1 2 4
2 3 1.

uigwe IT

wedflg euer FlL Bz

- gopaurflure ey sapse

Qgriflareniasl / LeihuTenyaenen
Ly St &gi5en '

LU et L.

Match List I with List II correctly and select your answer using the codes given

below :
a)
b)
)
d)
Codes :
a
A) 2
93/1 -
C) 3
D) 4
33‘5210

ListI
Management function

Advisory function
Executive function

Management function

List II

Hurnan resource planning

. Advise. to the departmental

stores

A

Appointment of labour and
employee

Personnel planning. _

www.upscstudymaterials.com
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51. .wulgué I( Guerdrmns Apsocureriast ) o ulgué I ( ussshsar ) s Ler
Qurpsd, &Cp Qar@ssiu Qoo ElllGsoes Qarsadr® sfurar ool ows

Caipis® : »
u1.'_u|.u.|éu I , ucigwes II
. ( Guoermuamns ﬂ@;bmmnmr‘ra&a‘r ) _ ) (ysssbh )
a} aeelsi, gfara® E 1. sieaarCaayare sy elGsaye
b))  Garert J. W. 2. gismarGsagearer &by sNGsaye
— JGsalluyer GuirevblLisig )
c)  urel, Qaeflar A 3. &y Cuev o &;Eotg,soﬂ@&mpeh
d)  QurGer CLal K 4. & Qgreev %u_ﬁmu&,éﬂ(‘é&m@.
Gopser : |
a b c d
A) 1 2 3 4
B) 1 3 2 .
C) 4 3 1 2
D) 2 3 1 4,

~ Match List I { Managemept Thinkers ) with List IT ( Books ) correctly and
select your answer using tiie codes given beiow:

List I | List 1
( Management Thinkers ) ' ( Books )
a)  Schneider, Arnold E. 1. Organisational Communication
b)  Koehler J. W. - | 2. Organisational Cemmunication

— Behavioural Perspective

c) Baset, Glenn A. 3. The New Face of Communication
d)  Berlo David K 4.  The Process of Communication.’

Codes : |
a b c d

A~ T2 3 4

B) 1 3 2 4

c) 4 3 1 2

D) 2 3 1 4.

335210 | ‘ .[ Tumm over
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52. ulgwd I @ ulgue I 2 & CQurepsdl, G Qam{ssILL Heten @,gSluS'@mmmm

Qera R shurer alenLevws (Bgrqb@g,@

uliq e I

a) Qaarrsﬁma)

b) S uligué

c) QLL.ED

d) &l
SOSRser :

a | b c
A) 1 3 4
B) 1 2 3
) 2 1 3

D) 4 3 2

-Métch' Lish A aitly Vit Te «onutlr ATkl seiz

below :
List I

a) Policy

b}  Budget

c) Prbject

d} Rule
Codes :

a b c
A) 1 3 4
By 1 2 3
C) 2 1 3
D) 4 3 2

335210

PO O S Y

1.

& s N A

Ll g we IX

Hebug Hebu aEd
yéeanena@psharer afisr @
(Lpemeelr

jemalled ugluendlé

surfléaiulL Qewed b

gpeuiisemer GuobuBHgn S Lo

LN HDPGUITS S,
( awelpiusdpe aufldlears )

youT answei using the codes given

i.ist n

Guidélines for repetitive
problems

Quantitative plan of action

Scheme for development of
resources

Rigld plan, no scope for
discretion. ' '
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53. ulguwe I g ulgue II 261 Qurepsd, &Cp Gar@ssiul Gerer @iluifsanens

Qe ® sflurear el _eows CaipOBH :

a)
) b}.
c)
d)
GoRser :
a
A) 1
B)y 4
c) 3
D) | 2

ucigwe I

Cuaranaws HHEeRsET
Splalwe smir Gueurorento
gt Gk HILb

wé&er Glgwéurd

b c
4 2
3 2
4 2
3 4

1

1.

g we II
Qamest Guwme
PBYS GuésD
SHWS By enaorilL e

e, L9y . QLtaurt.

Match List }willi Liet 11 correcily and|sziect yonr arngwer using the codes given

below :
a)
b)
c)
d)
Codes :
a
A1
B) 4
C) 3
D} 2
- 335210

List I

Principles of Management
Scientific Management

One head one plan

Functioning of people
b ¢ d

4 2 3

3 2 1
P ]

3 4 1.

- List I
Henry Fayol
Unity of Direction
Unity of Command

F. W. Taylor.

[ Turn over
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54. Sereumeusaible erg &% SLEUUTL [ BILUD Sj6en ?
| A)  Allruuligwe B) @@r&:@ [BL_ 6Ll &0 &
C) OsTsiens | D) yspsé. |
Which of the followﬁg is n:ot a te;hnlque of control ?
A)  Budget __ : 'B)  Disciplinary action
C) Policy : _ D{ Praise.

55. @bdlus sboualeer slLpdler S Lawvan | & ulgua A asdr wrflaows

QerH&HDE ?
A)  Sewly oD §6 B) OQewéhwen g@ -
C) UGS sTeTdIBD D) @euhpel ergeydlcoenen.

Table A of Schedule I of Indian Companies Act, provides the model of
rd
A)  Memorandum of Association B%-‘*II: Articles of Association
F

C) Share Certificate D) None ot these.

56. Ulatoupmb @emeauseiey erg sflursl Curehlyerers 2

A) el ey, Qe — el 2.pe UG POD

B) Oamehl Guured - GO GO DML LITELOT &8
C) | eTéuLeb7 LG - et F e igm1G e

D) -(Smrﬂ i et GuiTeL — sfieweesrt Gueedsiemis.

- Which of the following pairs is correctly matched ?

A)  F.W. Taylor — Human Relation Approach

Pl)/r Henry Fayol — Universality of Manageinent

C) Elton Mayo — Psychological Approach

D) Marry Parker Follet — Scientific Management.
335210
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57. @ uellel apesbsansamer 2 HaTéE Hgomears. Celng Caeeurea sGdsamer
saoBlyd pep : .
A ved) LHOSH FELLGD B)  uel flves @H® amuu@m
C) Ll L@UILTIeYy ereosTlrI(HiD D) &y euflemeliu@dse ereiu@b. .
The process, which results in establishing the component elements of a job‘ and
ascertaining the human qualifications necessary for its performance is known as
A}  job evaluation ?’J/ job specification
C)  job analysis ‘ | D) merit rating.
58. ghiiLdlie GTGESTL:@
1. (LpedT Sl
I | THpE @&u_le'nl aufiaaldl®phs sperans Garea Cedige '
L fplué Shgemenr
V. 2 Hugd Cuevreryres WL 6T HSHHULHD (LI &Y.
Gleubpyet : |
A swadan sfuraree _ B) I, Il whoyd IV &flureraneu
C) Iwhyib I sfluretene | D) o gy 11T sfurereey.
Planning tnvolves |
L Forecasting
II.. Choice among alternative course of action
. Wishful thinking
IV. Decision only by production manager.
of these
A)  All are correct ~ B) L NI&IV are correct
C);'/I.& Il are correct . D) 11 & Il are correct.
335210 : ] | { Turn over
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59. Olurg Guemeny, get srtumre He aSipuenesiwrerisameard Catay Cabuwrny alpueansr

Coaretond Cal Hé Careioug s
A)  Flamy Ay Bapey

B)  eflaryl upeuerssd Hlapey
C) sdlary sug:aﬁ:&.d) Blapey

D)  Qumrmpiy euprigies rf,]esgpq:

If a General Manager asks the Sales Manager to recruit some salesmen on his

behalf, it is an instance of

A) diviston of authority B) decentralisation of authority
/C)/ delegation of authority D) | delegation of responsibility.
60. Oanrenblursd Gemluriigebrug Lﬂc&rm@mmmﬁ)@éa oihg EID b 2mAHUILEGSHHID
smyess 2
A)  sbuerh wHTIG LG & “B)- + uanf)sing eud
-C) el Blemen D) i@y eusdl.

Which one of the following is a8 motivating factor as per Herzberg's theory ?

A} Salary and allowances B)  Job design
?/Wdrking conditions ' D) Leave facility.
61. meiGameny eurkigadalphg werd geryé Galuyd Glawe
A) @oné shargdié B) uwpy sheompdiGpe
C)  @-sheozdé D) supsTwé shosLe.

The practice of discouraging the consumers from buymg is

/ Demarketing B) Remarketing

c E-marketing D) Social marketing.

335210
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62. ulgué I g uwgub O oL Gurpsd. S8 Qar@ssii eren @rﬂuﬁ’@a&mmé&

Qeren@ sflurer alaLows CatpCsd :

uigwd 1 |

a) gy mma&ﬂu@égé

b) = suresdflud Qul;JrﬂL_-du '

c) &;L@gé

d)  shep @@m
SRt

a b c d
A) 1 2 3 4
B) 1 2 4. 3
¢ 1 4 2 3
D) il

£ 3. 2

uCgwé IX
Uiy
SELWTETD &HTENBE .
hed @ophs el
cuad.

Maich List I with Yio) Ll conantly aod select youcanswver usiag the codes given

below :
a)
" b)
. )
d)
| Codes :
a
A) 1
B 1
c) 1
b 1

List I
Grading
Branding

Packing

Market penetration

2 3 4

2 4 3

4 2, 8

4 3 2
. 835210

s
/

List I
Sortmg
Idenuﬂ_cation

Very low price

. Convenience.

[ Tarn over
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63. uaTswed GOULILL srosdlbeer QegdHumwsars mﬁlﬁ;uemasrmrreﬁgrreh

QUPRSILGD &a)ens
A) alpuenensd sein@pLg B) OQuréss gei@pug
C) 26Ty, FellEHLIg A D)  uGeusTeng Ge@nhLy.

The concession given by the seller for remitting the bill within the specified
period of time is ' ' '

A)  Trade Discount ; B)/f/('}ash Discount
) Quantity Discount ) D) Seasonal Discount.
64. ué]cq Qb L aflwrumryé @,[6] '
A) aeiss @i | B) Gmemréts‘mpgq Hliresorwé @
C) ammew ris - D) orié-iu. V
The registered brand mark is'called
}f’ﬂ Trade mark | B) . Agmark
-C) Hallmark . D) Mark-up.
65. flyrer eflembuyd eresiLIg
A) &*éﬁ@grn'_u;&efr apaid QeintuGEpg
B) ;mr'rélassfr apeoth GeiwiLGEDg
51 ugmdw&»e!"r @e»io Q&Mpﬂu@aﬂb@
D) QeoLwraitaer wped Qelwliv@ang.
‘Mural advel;tising is made by
;. A)/ Poste.rs : . | B}  Vehicles

C) Balloons |, ‘ D) Sandwich-men.

66. Meteumeusteupdlé ag amu@dlL aNerburfé Elevenen 2 |

A)  seterd srlél . B) aflwrury @Lé smidl
C)  umremeu Semé s - D) bg@;ﬂéssmas aferbuyib.
335210
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Which of the following is not a point of purchase advertising ?

¢

A) - Window displéy : B} Counter display
C) Showroom display : /5}’ Press publicity.

67. ellerbugsgledt 2 orursl LGEs Coumgu uGEH
A) ©  elerbuLiy 2en_&b erestILHD . B) alemivLyl Yyd ereriu@b
C) ellembuy gyerTd srasruu@m D) aﬁmt’nugé &@eﬂs’ma eTeTLILIRID.

The reading matter that forms the text of the advertisement is
“A) the advertisement media B)/thc advertisement copy
'C) the advertisement dictionary . D}‘ | tﬁe advertisement magazine.

68. o Surpeisr afloeamu . 49-95 aar Hifeud Glelyd e -
A)  Quenbs mrr;prrasr ellemandiLé (e eTeriLED
B) soUpCa@sen allmedlé waop aariu@n
C) eadliymibeb almedid qpan sresriLid
D) Gudlp grégd allomwilié (pen eraTIL(HD.

.Pricing a product as Rs. 49-95is a method of
?4/ " odd pricing : - B)  skimming priclhg
C)  expected pricing b) ‘negotlated pricing.

69. udlu OQurmenrany Ceretens 1991-6 aqr,ﬁlq,&m‘n GaluiulL L et TFTReD
Qeuefipm G ellwrurygens ms.suu@&,gam wpawres  ueBap ghuThHeaend
Qg,rn_tmaﬂu.igj 4F '

L gymemounnir 86
II. 5@ﬂ@nﬁmmmn&5@ :
. Lmamu.'vmrré,mé:
@eubmyei F
A) Tl @ sflurearg B) Iwppsid I sfureiere
C) I wpgd .sflurarena | D) eerdgid SeupTaianey.
sssz10.. ; [ Turn over
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With the introduction of New Economic Policy in 1991 the Government has
taken a number of initiatives for boosting foreign trade. It is known as

I Liberalisation
. Privatisation

III. Globalisation

Of these
)J " lalone is correct B) @& Il are correct

C) LI & I are correct - D)  None are correct.
70.  Qur@esr CaipuBEaise @g,m ApoSlwédy |
A) @(bg‘gjrﬂsmm ; B) ‘ Blepeyts Gurtig
C)  wbpenw Gumig D) @eubper ergiapblciensy.
Product diﬂ‘ereﬁtiation is a special feature of
A)  Monopoly .B) Perfect competition
521/ - Monopolistic eompetition D)~ None of these.
71. @&ﬁ@mnfr 2 ufl eresTLgy |
4)  zufl gsrGeumt - B) meitGeumt Georub
Q) el Qurme | D) 2ufl varBlepey.
" Consumer surplus is
A) Surplus consumer | B) Consumer profit
C)  Surplus product ‘ P/ Surplus satisfaction.

72. s (wrarphen wpaflu GHEGsmet

4A) metCGarary Figpe ‘ | - B)  metGarans @onsse
C) Cearygeomsd salibse . D) efipLemeneow o wiHHBe0.
335210
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The main object of packaging is
A) to attract the consumers B) to reduce-the consumers
o to*prevent the damage D) toincrease the sales.

73. G OQur@geerl ubblu g nﬂgbumanmrrmml)’u Ly SEHEIO® TS Cpevid
- TRBHE Cladgs QuT@GeNer @b LGH

A) aﬁlg‘)umaﬂu Qi - i B) efibuener
C) r_f)]uq& a‘-’t.@ D) &L (wrerb.

....... cereerenenes 18 @ part.of the product which carries verbal informatjon about the

product or the seller.

A) - Brand | | B) Trade
¢y Label ' D) Packing.
_,f’ -

74. elpurctsiens @Eﬁ&:mmmw Lsfrsm_é.atlu.:gl}
A asdpdy | B) gy
Q) eLemld Qb i oo,
Salcsmanshlp involves t‘hc art of

A) Invasion ) . B} Evasion

~

?/ Persuasion D) Division.

75. #heosl ugLle Lwebselr
% @G\uﬁl&:msﬂé CaléSpg
0. m&rGeuntt werglenpey Qﬁmé Q&méﬂ@ﬁ
lIII. B8 o6 &-{j,mg,.é.‘@aﬂl 2_SHlur@b

V. yflu Qur@eer SPiwsb Q&bzd eaeflg.

@leubpse : |
A} TwhHpd I efuretae B) 1 Nupgid IV sflureramea
C) I Nuppd H sfurerene D)  Searsgin sflurareme. -

335210 ' [ Turn over
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‘Benefits of market segmentation are
L This saves resources
Il; Consumers are satisfled
Hl.  Concentrated marketing strategy
IV. - Easy to introduce new produéts.
Of these '
A) 1&1I are correct
B} LI &IV are correct
C) 1, II & Il are correct
/Di All are correct.
76. ww efipumer aifés i i Euppiute gy ei®
A)- 1950 | B) 1'.955
C) 1960 D) = @eubpet egiopfdome.
Central Sales Tax Act was enacted in
“m 1980 ‘ P B) 1955
C) 1960 . Dy Noneof these.
77. e aueswurer eflururyhset ( Sideg ) Qgrrbb’l.e‘u)ésfr"@gj siﬂﬂ&mﬁu@fn eurfl
A) . au@wrer aufl : | |
B) OsreL af
C) e pusd eufl
D) aflpusrer aufl.

" A tax upon the pursuit of certain trades of occupations is

"A)  Incomie tax B) Gift tax
/(;}/ Excise duty ' D) Sales tax.
335210
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78.  ‘QameoL e SV JUDEFHGHENTS G)enel Bienihgieer e
L Qengs Lfmrbplb @Qbsurﬂt.l.&@[ﬁg wHpaBEHES e CunElng.
IL»  rphpid 5s&rmﬂééemn5 BeoL QupidleTng).

1L 5@!..@@@@6‘\1 2_efrem @qm&u;Jrr' Seng Sosyd Qersg ufibrboGo
@)@t HHUGLITHTTELD.

IV. uewmGur ( Sjdveg ) LessBElihG swwres DHLILETENTS WTHDPD.

@m(ygsﬁ :
A Tul@bd sfurerg B) lwpgd I eflurereneu
C) L IIopood I efwurereea D)  seoarggin sflureiaea.

'Basic propositions in the definition of gift are as follows
' There is a transfer of property from one person to another
II.  The transfer is voluntarily

II. The subject of transfer is any existing property whether movable or
immovable '

IV.  The transfer is without consideration in money of money's worth.

Of these
A)- I alone is correct : I & II'are correct
C} L II & Il are correct /B( All are correct.

. 79. 'of@é:&,cdon_sur.b@eﬁ ahs Criwps aufl @bdu ere alflésiL@Hlang
A) 2 pupd eufl : ] B} . &hs euf)
Cl  Qergg eufl D) elipuerer aufl.
Which one of the following is the Direct 'I‘ax levied by the Government of India ?-
A)  Excise duty . _‘ _ B) Customs duty |
Wealth tax D)  Sales tax.

f
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80. efgpéaam'm_mrj)@jsﬁ érg; sflure QurEEsLIUL Beterg 7

A)  auflfidver Cueyrduis —  amLes Gder ofLf csd

B)  eaufldléeomn uuq.&,sﬁ : — u@afuﬁ

C) GCpiyg aifl | —  cugwrer eufl

D) wepdaps eurl ‘ T e Qarpg eufl,

Which of the following is correctly matched ? ' v

A) Exempted perquisite ‘ —  Rent free accommodation

B) - Exempted allowance V —  Dearness allowance |

/(7,‘{ Direct tax —  Income Tax
|y e e —  Wealth Tax. -
81, Sphs@on_ sappEeaen s : . '
F L pegrldl afl oL@ wdnle » Qurds %Qﬁﬂ@ wlinilé
s fl&aElnpdlang. _ . '

1. peyridl aufl el @ vl Blay g @n® wdlinfea aaké]é.mﬂu@aﬂdsmé.
I, smworar, evfléstib 9 floy 24 & s g & af) 5@&5@4@0‘36&19@,
V. pegridl aifl ofLG wfife & flsatnGaddame.

@leuppiefr : :

A)  Tol @b sfurerg R B) I wﬁam‘o 1 sfureasreneu

C) LI whHpid H sfhurerame | D) Sesipgid gflwr e emeyu,

Consider the following statements :
I.  Municipal tax is deducted from G.A.V of HP
Il.  Municipal tax is deducted from N.A.V. of H.P
III.  Municipal tax is deducted u/s 24 of L.T. Act
IV.  Municipal tax is not deductable from H.P. lhcome.

Of these :

,5/ I alone is correct B) 1&IIare correct

C)y LIO&II aré correct ‘ D) All are correct.

335210
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2 pusd afleglulL OQurGlsel .edédug wiFgu 2 pusdh eflésind 1985

82.
UL suventdlés @O Lu’ Hefrerg) 2
A) ° eflurer sahmy ; B}  seupmen sapm
C) Qaefleupp sabHmy D) @eubmer ergieyllcieney.
“Excisable goods mean goods speciﬁeﬂ in the schedule to the Central Excise
) _Tartﬁ“ Act, 1985 as being subject to a duty of excisc.._“ : |
A) " Statement is true : ' B). -~ Statement is false
€)  Statement is vague - _ D) None of these.
83. aymwIeT éJrﬂé&V_t_Lb _1961-@&3'11_'1&4. utgud I (ughsel ) @ un'_qltuéo I ( ufleysefr )
sl Qurpgdl, £8p Oer@ssiul@eior @fiGsmas OGsran® sfure
e ous CarhOs® : ‘
u1'_|spu-éo I L we I .-
'( g ) ( Lifleusar )
) Ourss apLraD 1. Ofey 2 (24)
b)  af edsEr Ll et | 2. 9fley2(31)
' .c') SO EBTLD , 3. Ufley2(7)
d) muf - 4. Yifley 2 (45)
GO Resar |
a b | c d ‘
A) 4 | 1 2 3
B) 2 3 4 1
) 4 3 L
D) 3 1 g - 4

335210 [ Turn over
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As per I.T. Acty 1961 match List I ( Terms ) with List II'[ Sections ) correctly

and select your answer using the codes given below :

List I ~ List1I
( Terms ) o . ~ (Sections )
a) ‘Total income 1 Sec.2(24)
b)  Assessee .r 2. Sec.2 [31)
¢} ° Income | 3 Sec.-2(7) ' |
d) Person | 4. Sec'. 2 (45)

Codes :-

U S R R

By 2 3 T
}}y 4 3 1 2
D) 3 .1 2 A,

84. auflalidlufest Grrémio
A) cggm;lﬁj&eﬁ (‘Sﬁﬁrﬂuq . | B)  eueuTl 2_wiey
C) . ghossrpaleeats Gonss .. D) @Eeoa Severdaib..
;I‘he purpose of taxation is ' |
A) mobilisation of resoui'ces . B) increasing revenue
C)  reducing disparities /9}’ all'of these.
85. (wheosw Mgt aipwrardden cufl QEgsgmas 2 amd |
A 26s phosu HTE
B) hosw yeyeer Wt Qgmiihg eued wdi@ g o
[0 wiSLE sy (et @00
D) mrlureso(.

335210
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86. cufl Hliraoorwé srah o8l 7
A} - gugeé 1 (pge wrig 31 g
B) g0 1 psé Go 31 e
C) @Oee 1 (pge 30 g@a’sr (PG
D) gaﬂmrﬂl l. apsev 31 gebulr apgu.
Which is ‘'Tax Assessment Pertod’ ?
A)™ 1st April to 31st March
B) 15t \Jaie to/3 161 May
“C) lst July to 3_0th June
D)  1lst January to 31st December.
87. Ufley 80C &b Lg, &bﬁlm.m@@&lﬁup Geuesorig g
L sl BTG
N AOfsstulrs @g‘g,g,]é; m_@aa &{Hiouid
I . Qurgs s&@® cumBLTardSlelmhe! WL @b
V. Gurg Cewvpe Bldléee uhiseiiny.
@leubmuet :
A} Twol@d eflurerg
C)  Muwpyd IV efurarae
335210 |
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Income of previous year i chargeable to tax in the .

A} same previous yéar
y immediately’ succeeding Assessment Year
Q) immediately preceeding Assessment Year

D} . current year.

www.upscstudymaterials.com

B) - Ilwppid 11l sfwreree

D) Saasgb sflurereney.
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Under Section 80C, deduction is available ‘
I To individual
II.. 'fo Hindu undivided family
-III. Only from gross total income

IV.. Employee’s contribution to PPF.

Of these
A) . Ialone is correct ' B) I & III are correct
: /
C) 1l &IV are correct /{) All are correct.
88, aumwrer auflés b 1961 & qu,,-g,scsﬂ Ut eTedTLIeuIT
I @ geflpui
: 1. gf dfssiuLrs @bas amL@é @GbuD
Il. @ Blguod ‘
IV. @i blipeuerb,
Gloupmyef :
A) 1wl @b sflurergy : B) Iwppid M sflureransuy |
C) Hlwopmbd IV &rﬂu_lrreofsmm : D) s@anpgid ghlumeseney.
" The term ‘Person’ includes in case of Income Tax Act, 1961
L. An mciividual
IIL. | A Hindu undivided famiiy
. A company |
V. - A ﬁrm'.
Of these
A) 1 aléne is correct II & III are correct -
| C) I & IV are correct : ﬁu are correct.
335210
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89. DD APS surﬁqurecTégj |
I.  eumwrer cufl
I ehs @rﬂ
. 2 pusd) el
V. alpuser aufl.
 @euppist
A) I-LDII_®L'D sfluresg B) [ wbmi 11T sfuraree
C) I, I wpgyd IV sfuraneren - D) smapgid &rﬂtunsurcm@.
Indirect taxes are |
L. Income tax
I. Custom duty‘
7 II. Excise tax
v, \Gas\iax!
Of these
A) I alone is correct ‘ ‘ B) II & HI are correct
C) TI IIl & IV are correct ' D)  Ail are correct. «
90. Gpry aufl o dobs cuf) aldliiy aenp. ghlaneiic
I AT sn;(g)mrruﬁlmwré, Qameso () auHSHH
I.  eeflgrs aigdlss apguyb
N Qegibsiens mgﬁ@@p&@a&rj}gﬁ eufl 94y
V. eafl Gewmsed b aperens:. !
@leubyer :
4) Twl @b sflurers B). I mij)@.b 111 sflwrereneu
C) MHlwl @b shurerg D W whHoid IV sflurereeu.

335210 7 , : [ Turn over

www.upscstudymaterials.com



PGCM

www.upscstudymaterials.com
48

Direct taxation‘is a better form of taxation because

*

. It fetches more revenue

1I. It can be more easily collected

II. It allows the taxation according to means

IV. Ithas greater tax compliance.

Of these
A) [ alone is correct B) ' II & Il are correct |
‘Q)/ " Il alone is correct D) NI & IV are correct.

91. & D& 8 GooTL. arsEuhiseerd el :

SaDDI (A)

smyawid (R)

wesié  Oleeveyse ( Sevevg ) DTDISSES ueflurentée
PUDEIBILRD ~ Ledor-| | (pegesgiion rausiorer- afddebs oloss

Seflsbaiu@dleipag.

aslamaldipha  srrelhe S, SwIBTE - ereTueur

: rHPLULGHEDTT, @uBsS . 2000  LweTLIGWITS

QUPRBLILSGTDG.  Bieur 2 @orooliGaCy 5. 2000 Qswe

Qetidlespimit.

BupasPueeuseflanig Veraipusreupiie erg efl 2

Al (A) oppib (R) GG efl, Cuaub (R) sreiiug (A) elpe slure aferssb

B) (A) m;b@fn (R) @yesoniv &fl, Goepid (R) eresrugy (A) albe sflurer allenésvdven

C)  (A) sfl, yemed (R) goupy

D) (A) seupl, Syeorred (R) el .

335210
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Consider the following statements :

Assertion (A) : The allowances granted to an employe€ to reet the cost of travel

on tour or on transfer is fully exempt from tax.

Reason (R) - Shri Amarnath, an employee is transferred to Agra from
Lucknow. He is granted Rs. 2000 as transfer allowance. He has

e actually spent Rs. 2000.
In the context of the above two statementé wh‘ich one of the f;Jrllowing is correct ?
A)  Both (A} and (R) are true and (R) is the correct explanation of (A)
}3}/- Bo£h (4) and (R) are true, but‘ (R) is not the correct explanation of (A)
C) (A)1s true, but (R) is false | | .
D) (A} is false, but (R} is true. .

gl Lefl alewsedcs wpodlinler erubd ( eEes ) HLLb sl Lrelaefldar wpseo

92.
H@OTERDE mrrrprpuu@m sﬁlaﬂgm
A) s allblph- L E) L Cuesipusane iglgn
C) s slldlgid D) dlurs aldlsb.
- Profit or loss on revaluation at the time of retirement must be transferred to the
partners’ capital account in '
- A) capital ratio ‘. ) l})' old profit sharing ratio
C)  gaining ratio D)  sacrificing ratio.
93. 'Liﬂ@wgr,@g,rrsmas ,@&,g;e&lrsmmu_lrrmg |
A)  Luureress BSGCR;TE'B@ ‘ ' B). %Gﬁ&ﬁﬁ' &1 G
C) 2 .cmeswrer SEEG D). @eubmen ageubldeme.
Royalty is in thé nature of
AL~ ”-/Nornlnal Alc - o B.) Personal A/c
C} RealA/c ‘ D) Noﬁe of these.
335210 | | [ Turn over
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94. 5. 1,00,000 GeonhaLLS eurrl_sms,ql_,séf FhisGlorandlendt A araTLaIT GES0BHHEG
ghdprt. Leér gopse ¢. 1 o fowns Csros. einilL g 2 pusd

80000 Lérselr. A Clegyss Geucdongw Qg,rrmq:mrrmg
A) eh. 80,000 B) . 1.00,000
C)  ¢5.90,000 D) 5. 20.000.

A has taken a leasei of mine with é minimum rent of Rs. 1,00,000. The rate of .
royalty is Re. 1 per tonne, The production is 80000 tonnes in a particular year.

Hence, the amount payable by A will be equal to
A) Rs. 80,000 ; P}/ Rs. 1,00,000
C) Rs. 90,000 D) Rs. 20,000.

95. powovusd Iy srhdloa Haoen Sgunsd CuDTs Hanaild, HaeeDLsD

TR @eubs GeldiigL Ha&HS

A) -sukﬂuﬁllam_é g&E

'B)  dloven sinieinsd seu1HE

C)  ururyé sevse

D) eru-plLé 5anhe. ' ‘ :

Goods sent by the Head Office to the branch not received by thé branch are

credited by H.O. to ) .
A) - Goods in Transit Account
/’.’f ;
B{V Branch Account
C) TradingA/c.
‘D) P&LA/c
* 335210
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96. u&@m@ g.lang)-aaaﬂs&r'@u;bg‘,\;r quﬁunﬁuqé G&ém SfGaiuL Geuetorigw SygLiienL
A) L& Ceup gerpaei @u@é\gﬂmeﬂs&r‘acﬂmmﬂ&ma,
B) aﬂmunqﬁ,é]s&r @Mﬁ)é‘ﬂ'lﬁ&ﬂﬂﬂ'ﬂ &1 601 Tl e & l
_d) 2_ctoTeniowmes LapgiumtiLé Claee)
D) @m ammﬁ;.ﬁin.' . '
ﬁeﬁairs to machlnés in different departments are to l}_e allocated on the basis of
A)  the _nurxl‘Ber of fnachineg in cilﬁcrent departments
B)  the number of machines in the ;Justne_ss |
C) the actual cost of re-pah‘# |
. D) allof these.
97. anm_ess Qarsiwpad wopdld, UTREHTEES 2 flémwo wrppid r:f;l&@éuy
| A) gisubs Qegipgiemadid | -
B) Qpd G\&gjﬁgm&uil@
C) sLeny mb@fb @uﬁ‘ é&@]ﬁﬂd’)ﬁlﬂé}
D) . @eupget srgqlﬁld)me:. |

Under hire purchase system ownership of goods is passed on to the buyer on

payment of

A} lnit@ paymcnt |

P)/ﬁna] payment

C) | both down and final payment

D) none of these.

. 335210 - - [ Turn over
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.98, vigud I ( uflurgsee ) o ulyud T ( grésd Qsiu Ceudmqus ) 2 e
Qurpsdl, &Cp Car@ssiL@star GPliGsmas Qoran@® efurar aloLawus
CorpCls® :

. ulgwe I
- (ufleurgzemen )
Siey BULib
girey euruD

allpp Qerggishee

s FHCHTHSG @&gug’sgsuuu_g

= W
=N N O

|

¥
-

a)

b)

c)
v

d)
@W@&Gﬂ 5

a
A) 1
B) 3
C) 3
D) 1

3 4 2.

uCigwe II

( préad Cslw Ceousongug )

1. 0 gsa el el P&
samhdler  Lbn  eeuss
GeuasorHid '

2. diey. sausdle ey
eubs Cousor(Hid

3. Fal L mefl&en & 6001 &8

_ cuTey emeLée Gevor(Hid
40 B0y e@msdle  UDD
eneuse Couas(Hn.

Match List I ( Transaction ) with List II ( Entry to be made ) correctly and
select your answer using the codes given below :

C)
‘D)

335210

List 1

({ Transaction )

Loss on realisation
Profit on realisation
Assets sold -

Creditors paid

._,
O I S
ST CIRECR N Y

www.upscstudymaterials.com
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h WD

List I

{ Entry to be made )
" Debit Partners' capital A/c

Credit Realisation A/c

" Credit Partners' A/c

Debit Realisation A/c.



99.

4 : 3 erénp aﬁ\élg,gélsu LD L‘i]rﬂa.@m M_I_H'Gﬂ&eﬂ P uppid Q. R. sal L reitrenndié

‘G&f’r&,&uu@eﬂ]prﬂr P, Q whHpid R @a»l_@u.lu.lrram ydlw oﬁ]aﬂgm 2:2: 3 aaié durs

aﬂaﬂgsm

A) 2:1 o B) 1:2

C) 2:3 . - D). @eubgper erginpdléensy.

P and @ are sharing proﬂts in the ratio of 4 : 3. R is admitted in the business
and new ratio among P,Qand Ris 2 : 2': 3 Sacrificing ratio is

m/ 2:1 ' B) 1:2

c) 2:3 D) None of these.

100. pausmand Oareigwae qpenpule, '&U&@a{mﬂr 2 wi wFide, sde s
Qegusdu Heoeded, Soo@d afsgs Osrerer, Epargubd ebs o pHrey
CaeaiLGdpg 7
A)  emteflogr ./ Gifiney BY| 2 Bk & sdinrey
C)  edppoaurent sPalsems D) e e sdray.

Which one of the following is needed to repossess goods at higher value on ‘
which larger number of rlnstalments are paid. under instalment system ?

A) Garnishee order _ : }3#/ Court order -

C) Seller notice D) Government order.

101. gsaosutat gop 2 pusdHlilaa Sis seflésiu@n sreb
A)  apgenen g THeemTed
B) asqupssiu’L sreddlpe wlGb
C) GEHS FHreuid WPQYoSGD |

D) @on 2 pusd SLesLL@D sreb wpapenybd.
335210 : ‘ _ E a [ Turn over
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Shortworkings can be carried forward by the lessee for recoupment

A) for any number of years

/B/ for a restricted period only

C) throughout the lease period |

D)  so long the shortworkings recouped fully,

102. 2 ei@ssoadié, Gop e pusdieer u5'|'_.5,, Lﬁ@&,gma&uﬂeﬁ CELLEE A0
A} we ﬁlé&eﬂgpn@:.s&r GLILHSD Qe GeuctorBid ;
B) Wsdlu @HSSSTTHL G cpLLBSD Gl Ceuato Bid
C)' gpev Blasdlpmit wpHpud ApGeTemiD GSBOBBTTHLT GULIHSD G\émw Geustor(Bid
D) @©eop 2-pupdl Biis 2 flew Gevene. |
For recouph{g the shortworkings of é sub-lease, the lessee of the sub-lease
A)  has to enter into an agreement with. the original landlord
/ has to enter into an agreement with the lessee of the main lease :
C) has to enter into an agreement with the original landlord and lessee
D) * has no right to recoup. .
103. Uh@seTTs QuUPLULL. QEreigpse® LY Lwer sl rels@pédlolCu udFiuED
‘ S . :
A)  eru plL dlélgh - B)  ypse alldlgb
C)  deoe pss alfsb | ¢ .' D) Qg Gsly aldlgn.
The purchase considenaéion recefved in the form of shares is distributed ambng
the partners in
A)  profit-sharing ratio ~ B) ?ap:ital ratio
C) ratio of fixed capital : }))/ ratio c.>f final claims due.

335210
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104. A, B wpmid C epeud 3 : 2 : 5 eI sﬁ]éﬂg@ 5 !ﬂrﬂ&@w Sl LmeflG 6.
A . ; L
@mr‘r&sﬁ»z UtiESE D O Gorsdlatpent. @) : 3 eredip afﬂeﬂg,gﬁsu

eflssiucLmre, yduw eru-aldlaib

A) 5:3:7:5 . " B) 5:7:3:5
C) 5:3:7'7> | . D) 3'7'5'5\
A, B and C were partners sharing profits and losses in the ratio of 3 : 2 : 5. They
admitted D and gave him :11— share.  This share was contributed by«them in the
ratio of 1 : 1: 3. The new proﬁt sharing ratio will be
g 5:3:7:5 B} 5:7:3:5
C) 5:3:7:7 B . D) . 8:7:5:5
105. snl’Lmefleefen gandluld LHLY eussILRD &aThE
A Swrunré HES B) @mu-plLéd &b
C)  eru-plL uditad saode ‘D) (e HRTEHG. :
Partners’ sal-aries are to be debited to
A) trading account
B)  profit and loss account.
/‘ZK profit and lsss appropriation account
D} capital account. |
106. Neteumd ahblereniies snl L raiorend Séme\)é:a.uut_mrrlb 7
L G St el gally SCSE sal Lrefla@bid Heuremrgn Gurg)
I.  Sowsg st reflsesd Harergd Gurg
III.‘ DG sl LTeflsEnd aluTurTSass Haeskss N GlsT e T

V. elwururgd el oGrrEwmesTe.

@eupguet : 7
A) Il pb sflurerg - -8 B) Ilwhpd I sflurerene
C) ﬁl WL @b sflurerg 1 D) seerggid sHuretaeu.
335210 ' ' [ Turn over
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The partnership gissnlved
L when aIl artners except one are 1nsolvent
II.  when all partners are insolvent
lIl. © when all the partners agree to dissolve the business
IV. . where the 'bﬁsiness becomes unlawful.

Of these

| A) 1alone is correct ' s B) . I.& Il are correct
C) Il alone is correct - .' B)/ All are correct.

i07 . Ppohisgsés Lbg goudlpiy o fow yefitug
A)  dpwkse sLssTd
B)  Sewly epenp@uilLme
C)  Powhssidr Qeudmpap alorés grgams
D) dpwdelils Aulsuacs.
Right to forfeiture of shares is conferred on the -cbmpany 7
A) by the Compénles Act
B} by the Memorandum of Association of the company
yf by‘thle company's. Articles of Association
| D) by Table A of the Companles Act. .
108. LEGSEHES as alanamiugddr Curg GEsEd ReluiL@D Wen
A) urﬁ:@éer‘r oflamanilgs Senateuhd@o |
" B) @ases weonilié
C) . pevialléams apenpuliey
D) 216160 GODHS 95!5585@;

P

335210
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When there i§ over-subscription for shares, then allotment is made
A)- to éll those who have applied for shares

B) by resorting to lottery method

Q) byv arbitrary method |

D)~ .by scaling down allotment.

109. geuGleurepbd ¢5. 10 sﬁgxb_ 30,000 weraflow Lhgaaer dmbus Cegss, 10%
peengdler geuCeurammid ¢ 10 efpb 20,000 Criewl LkGSmeT BipwGiorey

QeuefiiLLg. wae @opiy smiy HHée wrpp Cacmuw GQgras. Hinwsdd
Qurrgiores euruId 2 6iTarg)

A) . 2,00,000 . 'B) 5. 3,00,000
C) ¢5.2.20,000 D) 5. 1,00,000.

A compény has iésp.ed 20,000 equity shares of Rs: 10_-each at a premium of
10%, to redeem 30,000 preference shares of Rs. 10 each. The amount to be

_ transferred to capital redemption reserve is the company has sufficient profits, is
A)  Rs. 2,00,000 I3} iR= 3,000,600
C) Rs. 2,20,000 /f]( Rs. 1,00,000. -
110. phoLuGEaTsS Ceassiubeug
A)  eSwrumy HLHS HTe BTUSSDETS
B)  alwruny edliare erusdhars
C) eadisragdle fHoLsassuqu Saos arusdbers
D)  wrurygdlen shere wTUSHDNES.
Goodwill is a payment for |
A) X past profits of a business

B)  future profits of a business

-

-~

/2] probable excess of future profits

D) ‘ current pi'oﬂts of a business.

335210 ' ' : [ Turn.over
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111. SpsacoL arsdlubsaers seell :
SaHm (A) : Gptews  Ul@STTTEEHEE ULE —@ooiod - Crréswrs
QUG LILIL euTiD. : : T

srjeoid (R) : uvigsoe Qoowsdle Causld@b Gurg, un&:@ (PERTDLD
m@e&é&»uu@aﬂe‘&mﬁ )

Sy SHOIL Gefren @gS]uﬁLu}-'éo sflumes aﬂ,@umwﬁ; CarbhCs® :

A)  (A) wppid (é) @i s, Gueyid (R}:Gra‘nugl (A) e sflures eflensan

B) (A whpid (R) @yesm@io &rﬂr,‘ Qugib (R) erestLig: (A)._oﬁljb@ 'erhﬂu.lrrsw fenésioces

C) . (A) &fl, gyerés (R) peup |
D) (A geup, emé (R} adl.

Consider the following statarnents .

Assertion (A) : Share premium amount can be refunded in cash to equity

shareholders.

Reason (R) : Share premium is usually collected when shares are tssued at

premium. -
Now select your answer according to the cod.lng_scl'l;ax;l-g given beiow 2
A) Both (A) and (R] are true éind (R) is the correct é:xplanatlon of (A)
B)  Both (A) and (R) are true, but (R} is not the correct explanation of (A)
C) (A)is true, but (R) is false
2’){ " (A)is false, but (R) is true.
.335216 _ |
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112. AS-14 @ Ly, HhS @Y erebTLIg)

A)  @eneooiiny sumrsﬁ]s\) @@Eﬁ&,mmﬁ

B) Oameigpsen mq.éﬂdﬁ B\m&seumd

C)  miiy sugalilé @@é‘a&&)ﬂ'&")

D) @eeoiy bppid Qereapsd sugals @)Eaeerid.

' Accprding to AS- 1\4. amalgafnation may be 4

A) in the natﬁre of merger only _ :

B) in the nature of purchase only

C) in the nature of absorpt;oh

9}‘ ' in the nature of merger and purchase.

113, Quéner emu oldlsn 10% @ pésd Cury, Lbgsdar Ceapa wHuy . 10
_aredlley, erdli urt&sLILED eru allflgbd 30%, aaflé allanarey wHi ererer 2

A ¢5.30 B} 678
C) . 300 D) .33:33.

K the paid-up value of share is Rs. 10, normal rate of return is 10% and the
expected rate of return is 30%, what is the yield value ?7

~ yRs. 30 B) Rs.3

C) Rs. 300 D) Rs.'33-33. \
. 114, uﬂ@&éﬂs&‘r & wHlidihe Cuéd uhigseaer QeuefiLme
A)‘. : g,eﬁ@umﬁlé) Qme{’ﬂuﬁh_é\)
B) @m@mfs@d) Q@eueflil_e
‘C] wpandiniled G\meﬂuﬁLe‘»
D)  peoaiwsHGer .gﬁmg{gsﬂ@uq.uﬁ@alzrr Qeuefip G)everen,

385210 ' : [ Turn over

www.upscstudymaterials.com



PGCM www.upscstudé@aterials.com
When shares are issued at a price more than 'pa.r- value, it is said to be
A) issued at discount
' /A . .
?) issued at premium
C)  issued at nominal value
D)  issued at neither premium nor at discount.
115. sLét FLOUUSSTRG @SS, sréeran Nateumd agamme eudlunrdpg 2
A)  slimubTens l B)  slLrmubléene
C) apiusdhe e Lol g " D)  @eubper srgieyblévenen.
For the issue of debent‘ure. obtaining a credit ratirig is necessary because it is
//1 . i . }
A)/ compulsory B)  not compulsory
C} optional - D} none of these.

116. £gp$aa§o'ml_. THSluksenenTs Hevet :

snipmi (A) . aedls pipeuerd eurhgd GurGsr /  allbed Gur@gm 1 Sygen

ol GeoorhdlL, uasis g,g')@uujr'r Gem1 &I LU{RSETmE .

sryeoid (R} @ pHGLWI Logg]tsq samadler a@sss Oametermod, X Blpeveriod

; _' e5. 1.00,000 &@ eurhisliLr L g).
a’f@gp @@ALI_ILS]L.'.@G‘I"I'G‘IT @il sflurer el ows Caibad :
A (A) wipd (R) @ren@b &, Gogib.(R) e (A) S sfluran aflenéaid
B) . (A) wppid (R) @pesoi@i aifl, Guoebd (R) eretug (A) albhe &rﬂu.irr%m. ellen&snéven
Cr (A e, c%wrrr-e'\)‘ (R) seup - G ‘ f _
‘D) (A) e, @ye1me (R) sl |

335210
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_Consider the following statements :

Assertion (A) : Whenever a business concern is purchased/ sold, normally the
~ value of goodwill of busmess will be .calculated for fixing a price
for a deal. -

Reasén (R) : The business éonccm X was purchased for Rs. 1,00,000 without
' considering the value of goodwill of the business.

Now select your answer a'ccording to the coding scheme given below :
A) Both {A) and (R) are true and (R) is the correct explanation of (A)

g

C) {A) is true but (R} is false

Both (A) and (R} are true, but (R) is not the correct explanatlon of (A)

D) '+ (A} is false, but (R} is true.
117. uhEsear wdHosE .Q&liJU.lL'D wen Seteumbmy
A dag Gensgy weop
B) aflevena) wdliy o
Gy @&,U Qergs iy whph elemerey L;)ékn_‘ peon&aT euflure
D) @aibnst agebdvome.
Valuation of shares ‘carl e doxie by-wiicn metiiod 7
A) Net aSsets ;)asis
B)  Yield basis
27 " Both net assets and yield basis
D) None of these.
118. Qaraigpad wpuwer Beauporn seaméd uGSng :
L. Curess Caras
.  fHley Gersg oD
. flay Ceaubgame @en
V. uflorbp elldlsb.

@)eunmyelr :
A)  lwl@bd sflurerg B) - -Twpgud I sflurereme
C) I Huwpmb I sfureresa D)  seeagain sfuraiee.
335210 , | : [ Turn ovet
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Of these
A)  Ialone is correct " B) 1&]1Iare correct
C) .I. 11 & I are correct | _BT~ All are correct.
119. Gy Sides Grenbeeh CopurL Ppasmiss: genfloabs L Hpesed
2 BeuTeuens @eueurn B Corid 7 ' '
A} midy | B @emasiiy
C) 2.6 wpdyerniiy | D)  Gwuefl by fyemoiy.
Two or more companies joining together to form a new company is known as
A} absorption . BY”~ amalgamation
C) internal reconsiruction D) éxternal reconstruction‘.
120. afgpésmrrafmumtj)@é\) ahs Gemeoot &flure Qur@hbdlysieng 7
A @evemiy —  0pGprE Apwsdo ghus
B) mily ' - @eaih  whmld @Grevgbe Gubul
. Blprokser @) esrag
C) 2 6i iyt ' - gy)mgém Geoply
D) Qeusfl Eyemoiny | — . udlw PipyeussrGuorssipy Carbmpaiiy.
. Which one of the foilowing is correctly matched ? o
A) Amalgamation - — Taking over another company
B) Absorption . - —  Two or more companies joining together
/5‘/)’ Internal reconstruction | — Reduction of capital |
D) External reconstruction e Formatioh of a ne\;v company.
335210
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Purchase consideration can be. computed by which of the folloWing methods ?
L. Lumpsum
IL. Net assets
II. Net payment

IV. Ratio of exchange.
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121 ulgué ¥ g uigue II 2 Laér Quigss, af(‘&bg QeSO [Heirer @@ﬁ@amm&

Qaren® sflures aﬂsm_emu.tg, Carps® ' _ ] )

a)

b)

c)

d)
eildpaer :

‘a

A 1

| B} i 2

C) 1

DY | 1

g ey X

Ul igwes E

uligwer F

ucgue G

. ul;lspme'\) H

3 2

4 2

4

3.

U g wes IX
1. erguflenw URGSTT e
C 2. Oevemnubléeor e FbGHTiT
3.  blews /UphpréEEeD

4. Gpieow URGSTTTEHET.

Match List I with List II correctly and select your:answer using the codes given

below :

Codes :

A)

a)
b)
c)

d)

o2

" C)

D)

335210

X

1

"List I

List E
List F
List G

List H

List II
.l.  Preferential shareholders
2, Unsecured creditors
'3, Surplus / Deficit

4.  Equity shareholders.

| Turn-over
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122, peiaiflenin .GSL.GGTFF[EG‘QBH'UITE: SHBHULGD S@Ieens: TWSSHES, TSI WTeT et

Opmy iy Hevews s iy o7 Coctongu Ogras

A) .20 ; . B) 5. 100

C) . 300 D) 5. 125. |

Under the Provincial Insolvency Act salary dué to a clerk is a 'prefefen'ttal

creditor to the extent of
o . i

)" Rs. 20 , B) . Rs. 100
C) Rs. 300 ‘ D) Rs. 125,
123. srencaudlurars QL ariy fidée sLparid@ Hlowd ugmodés Gm@s’mqw &gelisid
A) ey weawngdle 40% |
B) dlar weawsdla 50%
"0 flay.peoangdle 70%
D) -_ @5"& peoanoggles 100%.
What is percentadge maintainec by Marine Insurance comnanies for reserve for
unexpired risk ? \
A}  40% of net premium
B) . 50% of net premium
C)  70% of net premium
P)/F 100% of net premium.
124, dlmspuiL ans Gniflsaams@aeia 2 cem S L cuametas aelauaTay 7
A) 16 . -B)Y 17
C) 14 | D) 19
How many schedules are there in the amended form of final accounts of bank
companies ? ) | |
Aa/ 16 ' . B 17
C) 14 - ' - D) 19.
355210
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125, eremeu 2_6fr LD@.’J'EFIJ'QS)LDBL] @\evemen 7
A) Uk apesaTsdd wrhmb
B} Uibi® apesarpdd Goply
C). dlpw sLdarhGsTEHLT 2 L sLr®
D) Gergg alhuene.
.Which one of the following is not a-way of internal reconstruction ?
A) By alteration in share capital of company
B) By reduction in share capital
C)- By agreement with companies creditors
Y
By By sale of assets.
126. dip Qﬁrr_@zqu,@éa@u uaId Q& eSHEID .@@TGUTTT Slesre(m eue suhihiév 'erg'bg,é Qeavay
Waeild Qs Gesorid ? |
A) gl & Qeeeyssi
B} saeiyé Glgeueaysel
Q) seelumert zendlulb
D) . UkGSTTIGEEHEHGE Cleasds Geusomgug.

" Which expenses are to be met first before makihg payments to other liabilities ?

ey

/M/ T Legal exi)enses

B) | Liquidation expenses

C) Ltquidafors rcmuneratit;)n
| b) Payr_nént to shareholders. -

335210 " . " | Turn over
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127. gohdlacns Uy Hows iuld gaatuL. Geuemgu Ly {Q&,gpa{&;eﬁ
L uwesilggid Cameong e@h Qmesh whnib #56e
.  edlturtés @uers QuUTpIiLEe
. Qeaups Ceusdongw whpid Cup Coletnyw sLersel

IV. Qelg uae@héere U,

@eubmyer :
A) L wppid IV efureree "~ B)  Huwppis IV eflureiee
C) lwbyd I sflurereneu D)  Seidgib sfurerareu.

The mutual obligations to be eliminated from the consolidated ba.iancé: sheet are
| I cash in transit or goods in transit |
II.  contingent liabilities
III.  loans payable and receivablé

IV. owing for services rendered.

Of these
A) I, 111 & IV are correct & IV are correct
C) I &I are correct }b/ All'are correct.

128, Sp&&TL saDpISHEET 6
I ' eukdlser evauliysener gH@d
I euhdlaer sLer wHOID (st LETEHSHENET cLPRIGLD
M. end 0 dpeuamhsai Qe

V.  euidlest RBIer aflam Qgedler Ly @uibigh.

Qloubpyet :

A)  1wi@b sflurerg B) Twppod 1 sflurareneu

C) L I uopgd M eflurerensu D) Sadbgd sflureareane.
33b210
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Consider the followﬁg statements : -
= I Bank accepts deposits
II. Bank issues loans and advances
II. Bankis c;.me of the financial institutions

IV. Banks are working under the direction of RBL

Of these
A) 1alone is correct - B} &Il are correct -
C) I I & Il are correct ‘/{]/ All are correct.

129. Epsadon arbduinees suef :
sapyy (A) : GO LEETETLS Ceretame Hipwsde wédlusrear efererasament
- Quppieterg. '
srpemid (R) : Ogrés guLpos Q@ Corsorsl  urglégd G
" gheredaoTacurug B GLiurleL o L TéGD. : ‘

#£Qyp ePLI @etren @Hui g6 suren el omug CaipOs@ : |
“A) (A} wbmid (R} @yesor(Hid i, Gueuid (12) erebTLig) (A) _eﬁlg‘g@ SiPuiresr afendanth |

B) (A whmb (R) @rer@d sfl, Cogub (R} arsdiug (A) allbe sflures aflendswde

C) (A} e, .é_l,mrré: (R) peup)

D (A) e, gy (R) af.

Consider the following statements :

‘Assertion (A} : A dividend policy has important consequences for a company.

Reason (R) : It adversely affects the cash flow and creates financial
difficulties, at least temporarily.

Now select your answer according to the coding scheme given below :

}M/ Both (A) and (R) are true and (R) is the correct explanation of (A)
B}  Both {A) and (R) are true, but (R) is not the correct explanation of (A)
C)  (A)is true, but (R) is false

D) - (A)is false, but (R} is true.

[Foa6] 335210 < ‘ - [ Turn over
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130. fpsaaoi airbdlutisamens sHeefl :

gD} (4)

STyewTd (R)

Sy Powaseler S5 sl EUUTLgoar  gHUGBHE Oareiug

Qgmiflen Guggsm& OGS &ng,&;uarr‘ém, (PeOPUTS wrdluereng.

gLy @@;mm @emgnuﬂlamsm Qpmifleo (B&TTE:GU)BSE:G!T @;b@me‘ﬂu.l
@5T]’LETL]QDLUJ LyeroLin gcmsmmuﬁleu aflpiugpeoLry  Hipwhsetles

Cambnsdlive aufl ugsding.

FCyp @MU [Beiren @g‘ﬂﬁﬁ.@&b sfluresr aleLomws CarpOs®

A) (A wbod (R) @i &f, Gueud (R) eraiLgy (A) alhe efurer alerésn

- B) . (A) wbyb (R) Qo &f, Cuaud (R) sretugl (A) efibe sfurer elletésinee

C) . (A) efl, syemév (R) saum

D) (A seup, Syemmes (R) gl

Consider tne lollowing siaiemernts

Assertion (A) :

" Reason (R} :

Acquiring control over other companies has become a favourite

method to build up an industrial embpire.

The holdhig company .method of business combination
facilitates creation of closely linked group of companies with

interest in mutual well being.

* Now select your answer according to the coding scheme given below :

: /ﬂ( Both (A) and (Rj are true and (R} is the correct explanation of (A)

B) Both (A) and (R) are true, but (R) is not the correct explanation of (A}

C) (A) is true, but (R) is false

D) (A} is false, but (R) is true.

‘8335210
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131, &psaaiL. curhalunsaens sl :
gaHml (A)  Oprgiy  deey.d QemifueoLw uwqud D gdigiflansd
sLefbGamtast updlu elorksameans ClanaomGeieang.

&ryesid (R) : gl Blepemaundiés o eter  eufle@pd  werguflawd

sL_afpCariaetmasd smesuLBSIDTTaer.
&8 @PudL Geiren @@u‘i'_qeb sflures elevLews CaipOs® :
A)  (A) oppbd (R) @yesa®id #f, Cugib (R} adug (A) el arﬂmrr;m aflenéeid:
B)  (A) whgub (R) @Usubr(ﬁfo afl, Gmgmbr(R) erestug (A) e sfluren ellensawnden
C) ) é.ﬂ, %s}smc;u (R) geup
D) (AI) gsﬁ@j. S e1mey (R) aifl.
Consider the fc;llowing statements.:

Assertion (A) : List D related to insolvency 'contains particulars relating to _

preferential credjtoris.
Rea;son (R) : All taxes due are considered as preferentiai creditors.l
Now select your answer according to the coding schemc given below :
A)  Both (A) and (R) are true and (R) is the correct explanéation of (A)
yﬁﬁBoth ({A) and (R) are true, but (R} is not the correct explanation of {A)
C) (A) is true, but (R) is false

D) (A} s false, but (R) is true.

335210 ' ) _ ' _ I8 | Turn over
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132, uigue I g wque I 261 Qurepssd, S8y Q&:rf@éa&&ul'_@sﬂsn eDipsens
Qarem® sflure el aug Ceihds® - '

uCgwe I ' : ~ uque I
é) BTl - BHO LW 1.  Hevewpp sH@UWT
b)  gemar - pHOLwLI 2. @b st pHGLWT
c) aed - pHGLWT ' 3. gyerent pHGLWT.
GOBsel, :
a b c

A Yt LB Y
B) '3 2 1
eF g 1 3
D) 1 3 2

Match List/| ‘with List 3t worvechy(znd selectiyourranswerausing the codes given

below ;
List I List I
a)  Dog-goodwill 1. Fugitive goodwill
b} - Cat-goodwill 2. Locality good\;vill
c) Rat-goodwill "~ 3. Persdnal goodwill.
Codes :
a b c
A) 1 2 3

/{) 3 2 | 1
C} 2 1 3
D) 1 3 2.

335210
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133. apmefl eygdlen (Bg;rre’se%fo @leenené GemieuenLwé Ceige
A £ smle ' ) . B sdeseriSe’
C) oopays srulE D) . wp srud@.
The purpose .of average clause is to discourage
A) Fire insurance B) _ Over-insurance
;Zf Under-insurance | . ~ D) Re-insurance.
134. aﬁ]mms'q" @piys smii@ FE @&d.mio. UL sl
A)  pegaT BULBSET i v | @LLﬁuLl.q.wd: UL Rhigh6iT
C)  -oupeumls B L ool D) epadlBLY Bk,
Consequential loss policy indemnifies -
A) ' Capital losses - B) Budgeted losses.
/9)/ Revenue losses p) ~ Loss of stock.
135. gaaue Psamaile, brpoed B upHu G)Sllug'lb SHULGD UL Ig W6
A)  uLgue C | : B)  uligwey G‘ '
0 WauhE , D) ulgud F. -
In statement of éﬂ-‘airs. details of bills of exchange are given under
A)  ListC B~ ListG
C) ListE ‘ D) . ListF.
136. (85rrrj>@éﬁ]ﬁqé,®&6\>m&eﬁ @5{5@ G 2-Tyesid:
Ai 2G0T} (gplq.mrfgg Querggibaet ‘B)  Sesuné Cerigibae
C) aparl Gswey ‘- D) -Gg,q@.é-@a’-e\ssq.
Preliminary expense is an example ot_"
/r]' .Fictitio-us aséet ' B} ' Fixed asset
C) Revenue expense p D)  Direct expense.
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] 37 . YW SgliuenLd Hir tutgueild el spdlpai Qeluiul L g
A a;@mrﬂémrrsﬁlé) '~ B)  glurelé
C) sef el - | D) Susiyfeé.
Zero base budgeting v;ras first introduced in
}&’/ . Amnierica ; B) Japan
' C) sWédeﬁ_ ; . D) Singapore.

13,8.. Qbp scupssmar Day Garud m. 20,000 LTsMD, WP Fnllgé Qé@gjg’;ﬁuuu_
Qeeaseie sfafliy . 1,000 wraan. Hemanle 2 e amamdesr ey
5. 2,000 wraad GBéed Gurwg Clewdsida Gwhg QuUDD CyTésd

A) 5. 18,000 b@é soure GBsed B) 5. 17,000 s&é swnms GmHei
C) . 21,000 6@ sowe GHéeh D) (5. 23.000 b6é FLOTH GBHGD. -

If the net .proﬂt for the Iyear is Rs. 20.000. increase in pré-pald expénses_ is
Rs. 1,000 and incréase in outstanding income is Rs. 2,000 the cash from
operation will be equal to |

~A)  Rs. 18,000 ' et Rs. 17.000
C) °© Rs. 21,000 D)} Rs. 23,000.
139. uksefly ererug Geuelyedong p@id e sier alglursd
A aSpusét bpih BrLED S ssalanem
B) alpuener whpbd Hleneswireor J;Lé,aaaﬁi@m
C) hHeoewura L éealame Lﬁlj}@tb mrr@ﬁ@t‘p aq;é‘,&.aﬂcme»
ﬁ} allpLienesr wHEud GlevrLib.
antribution is the difference between
V Sales and Variable cost
B} Sales and Fixed cost
C) | Fixed cost and Variable cost

D). Sales and Profit.
- 335210
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140. eg&dlpuler Qugeurer &phé @)Bener 2 aortHgib
A)  sg&sle sydlalugurer wpweselH B) ep&dlés @eopeure weed®h
C)  speprure efpueer D)  @oopeurer Georuib. .
Low turnoyer of stock lndicatt_es
ﬁf over-investment in mventéry . B) lower investment in 'mvcntory
C) Dbrisk sales , D) lower profit.
141. é)l;l;_!'_lUl;Lq.uJG'\) g,mmﬂﬂd]& PSS Lig |
A) Quréss Sl LUl igwe ‘.;_F,uqrrrﬂgg;eb
B) .- Lﬁ)ugé"lé QC_L_L'Jui'_Lq.mé\) swurflgse
| C)  olpuee pe &Gm‘ﬂuq
D)- Bygrend QLLUL:L’-!&;@@ surflése,
The first st.ep in preparing the budget is
A) | cash budget preparation
B) preduziion ‘P-\_.‘.dgfl preparaticn
G- ’i;ales forecast
D) master budget preparation.
142. Spéacoil. cumsslukisemend &a@eoﬂ .

gapmy (A) : Coeragmeons  semsdue, Hifurssdihe, wyasd ahé&sd
- Caeveuwre gHeUGSNS SHEDS.

smyern (R) (Bmenrrc;_dmémmés sehdhuc, Hfls scnsduder e Hlaer.
#8p @OLI_Geirer @Hlfii g sflurer aloLows CofbsM

A) ‘.(A) gfl gyenmen, (R) Beumy |

B @ seup eTTe, (R) o

C) (A} g (R) @yer@id &

D) (A) wbpib (R) GeiGid seup

335210 . , - [ Turn over
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Consider the following statements :

Assertion (A) : Management accounting provides management with information

for decision making.
Reason (R) : Ma-lnage;nent accounting is a branch of _ﬁﬁanciai accounting.
Now select your answer accordlné to the coding scheme given below :
A) (A) is correct, bﬁt (R) 1s wrong

B)  (A) is wrong, but (R} is correct

9/ Both (A) and (R) are correct

D) Both (A) and (R} are wrong.

143. uiguwé I g ulgued H 2. ér QuTresd, 'af(a'gp QeTR&s UL Pater @DSHemeré
Q§n®h® gfluren allen_cows CatbGa@ : '

ugwe I ' ' | Cutgud IO
a) Bleeure vgiuTley - 1. eubdhut
b)) UILED ugwe 2. Hfoucigue

¢ @eruplL ufitas sambe 8. L& Hlener) LGLLMLRY
d) Oeeft uglurbeument = 4. . QEhESEL UGULMLEY.

epReet :

A) 4. 3 2 2|
B 3 ,1 4 | 2
. (:‘,} 4 Z. 1 .3
Dy 2 4 1 3.

335210
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“Match List I with List I correctly and select your answer using the codes given

below :

a)

b)

-

d}

Codes :

e

. B)

C) .

D)

3

4

2

P & L appropriation account 3.

List I
- Static analysis ' l.
Comparative statements 2.

‘External analyst 4.
b c d
3 2 1
‘1 4 ' 2
2 | 1 -3
4 1 3.

" List II

.Banker

Fmancial statement

Horizontal analysis

‘Vertical analysis.

144, uiguwéd I o mgue I 21 & @Uﬁ@ﬁ@, Fqyp Cerhssiu Reren @liResens

Qeren® shurea sl _owd CHTHLIHH :

a)

. b)

c)

d)
@pﬁ?uf@as& ;

a

A) 2

"B} 3

C) 4

- D) 1

335210

urgiemiy elbuener @Géeraw 2.

ATl S8 efleenTud 3.
alleflby opssalame | _ 4,
b c d
1 4 3
4 1 2
1 2 _ 3
e 3 2.

Ul igwé I

Uisefliy

1.

quﬁé: II
guleress ysiral
Qurgs eleffliby -
Goryg &Le‘s&aﬁl@m

CLrse L sealtaes mr b,
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Match List I with List !I correctly and select your answer using the codes given

below :
List1 | List II
a) Contribution . 1. Break-even point
b) N11 margin of safety o 2.  Gross margi-n
c) ~ Absorption costing 3.  Direct cost
d) 'Marginal cost 4. Total cost technique..
Codes :

/M‘z 1 4 3

B) 8. 4+ 9 @
c 4 1 2! 8

D) 1 4 3 9.

145. Guevredoreniyis | Heriibelie | ‘[S“Jﬁoﬂmg';ghﬁ',@b. Uit e ais (Dl gpamer wEUT”
wpyurs uesiidlemaré Celdlng -
PO T e B) v @uum. O Lad
C)  Seoeandg Hifeursl) uestls e D) eohfloaiy ueas.
Management accounting provides invaluable services to the management in the
performance of e i ‘ | |
A}  Planning function B) Controlung function
/@’] All management functions - D) Co-ordination function.
146. sliqu Blay Gerupd, Ceudgpans 6 eeyselr &®@n5@m5@m Geriibgl @g,gb@é
FLIDTE: BBEGD | | o
A) Bl Lwesur@ . | B) & Hig)
B4 [ @&stas@&@ euptidlu Blg D) Bl glib Geveen.
335210
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Net jprofit earned plus non-operating expenses is equal to
A) - uge of funds B)  sinking fuﬁd
j,))/‘,ir fund provided by operations | D}  no flow of fqnds.
147. @&Q@gﬁ)@lﬂm LTHREF RS Qg,rrs&&uﬂah Lu.u‘rcq @55&)@- 8 _GOoTL_Mé @D
A)  Qnrées @emrrr.)sq. | " B) Ourés zuwiey
C) Qurassdé wrpur® @éosma; D) @byt ergiayilevene.
| Increase in the amount of bills payable results in
A) Flecfe;se in éash- B " increase in cash
C) : no rchange in cash ' D) none of these.
148. meoLWpeops OeTssss 6 aaib LD @g} Gefhaa Sjeven ‘
A) sl gé Glegdasiul L g |
B) - OQupssés wTHRES G
C)  wrliry sy edlmiig
D) peaviLsre geiaflemeubaniiil L tﬂ#ﬂqaeﬁ.
The ter.m ‘current assets: does not include
A) pa);'ments in adva_ncg ‘
B) bills receivable |
C)  stock in trade

D ‘long-term deferred charges.

149. urgeriy eflefloy alpueer 20% wraab, P/V aidlsd 60% GEéed Quraysl

>

@)eoruid
A)  30% " B) 33-33%
) 12% D)  40%.

335210 : ‘ . ' [ Turn over
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When margin of safety of sales is 20% and P/V ratio is 60%, the profit will be
A)  30% - . B) 33-33%

/01/ 12%- D) 40%.

are S &sallamellesr QuT@mer

150.
A) wrpuEd L ssallee . B) dleawrer ossalae
C) uGSH-LrpLlD SLssaloe D)  dysmen gLé;a,aS!Gmsv.r
Peri(;d 'coét means A
A)  variable cost ' 'B)f"’fﬁxed cost
C)  semi-variable cost D)  prime cost.
151. gliuifii.  @eru-plis S aBTEE WOHEID @@Bq Bleoas@iliy yewlieu
GTHTONOTS VST auTey Q&eueq ﬁLLLLDW%mgg ' '
A)  Ourés eﬁrjm-@&a}m b B) Lﬂgg;'r'rém curey Gaeey gL b
C) 2 plad gy Béas @b 2} | EdSlicddor G\_U;J Csevey SiLib.
‘The- budget which commonly takes the forﬁ; of budgeted profit and loss account
and balance sheet is | '
A) cash budget B)/rr;lasterl budget
C)  production bﬁdget D)  sales budget.
152. geflpurr &,L@DUWL@ Qawyd QUi UGSlurerg)
A) raLé&aﬂ@s\) eDWLD B)  eumeurl @LDLD
C) @ewru emwwid Dl] QL emowib.
An area of responsibility which is controlled by an individual is
A)  cost centre | | B) revenue centre -
é] profit centre D} ;éspon.sibﬂity centre,
335210
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153. &fl Q&u’.mlb Sliygsenen 2 mHeur@D STy eoomnd
‘A) sifley : B) elywbd
C)  uupsTe Las ._ A D) gemem Gummer.
The problem‘ of rectification ariées in case of
A) scrap . B) ‘Spoﬂage
/OY " defective work | D) by-product.
154. qﬁu@ﬁi\m SO srjETal quCLTAEID WIHD @Loru.lrrgsg.j eTesTLIg)
A) @quﬁmL BT S{6T 6 o B) Hlemewrest S syeney
C) | adlrCrréflu s7emey D) B SiJerey. |
A standard that is never altered once established .1s known as
A) l;aslc standard | BF'#-I(;(-:aI standard
C)}  projected standard - D)  good standard.
155: 9_6rr TG OGRS BIET wssubgausbe 2 Fhg o lsaelas e g ?
A) . uesh .&]L_;E'BEF:G)S]SU)G\) . _ B}  wghlee ossaloe
C) QuUUbS SiLssaloe D) Q&m@@@@ 2L ssalane. et
Wl.nch method of costing is best suited for interior decorators ? |
Ar]/ Job costing B)  Process costing
C) Contract costing’ = D)  Operating costing.

156. Guerameandg —oLbsaloen  sausdludar g wsHuorar BT

& |phaeoremsusefles erenel 7
A) @& Howsder willes me‘r&@aﬁlm@
B) @& sbGuels s L sfanig sl gpopn Caomeasamen Heitsd @&&Q@@

C) @& Boeueisde @a)rrua)guirrwr Lppd  @Gerundp — Cleweseen |
QeuefLuPEgidng ' '

D) Qg Pssausdudan sfggdamven sfuriédng.

335210 ' . _ [ Turn over
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Which one of the following is the most important advantage of cost aceoﬁr}ting to

management ?
A) It increases the reputation of the company

B) It meets the statutory requirements of Companies Act

_©F™ Itreveals profitable and unprofitable activities of the business

Fg

157.

pifelldsin’ L pelGur@sr £HCar Qanée . -3; Bifeordléeliur L gbuerh
FCour epeddi@® ¢h. 5; eradfléy, 5000 gev@sel L@uéé] Qeneusherer bitaodses
Geuetorgw epeliCurGeie alene

“A) 5. 15,000 : B) ¢5. 75,000

Q) ‘@. 25,000 ' D) @. 20,000.
Standard price of material per'kg Rs. 3, Stél_ndardFusage pe;' unit 5 kg. Standard
cost of materials for producmg 5000 units is-

A)  Rs. 15,000 d " Bf  Rs. 75,000
C) Rs. 25,000 D) RS.. 20,000.

158.. 2 HuHH SeTey erdleLeTOINE  B)HHSBTEID 9-]1.65&56‘15166)6\) fﬂ@sumrr&.mm @s\as\mmm

&[G\JG\JQ} DTLGD HeTeno. Lsml_wg,rrsscqu) @)eveuined @@uugj

A) ued Hleewrear Q{L_B";E‘:G)maﬁé\‘)
B) &L@éu@&gufb gql_éﬁaseﬁas.)su

C) SLOLUGSES PYUTE S dsalae

B @mrj)@a%-srgjsq@é)meu.
Cost which is neither fixed nor variable in relation to ti‘le volume of production is;
}y/ 4 semi-fixed cost B} contx;o}lable cost -
Q) uncontrollable co;st : -L;)} none Qf these.

D) It checks the accuracy of financial accounts.

335210
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159. dlLL oy ssaloe samse eaaupnL e Ludlfssiu@fpa 2
A)‘- @@g‘ﬂr_ﬂmm ol bsallee semse B) élgé!&,g;é» @Lé,&a‘aﬁlemm-&,m&@
C)  uewl wHobd LgBlee HaTTHE D)  @emeu .ga{w;sm&@m, |
Standard costing can be used along with
. A) margiﬁal costing | B)  absorption costing
C) joband précess costing ‘ pr "—.__all of these.
160. glLe spésalome ol Blnwd LLETURSSID &HSSue é‘lf_-l_.:gqerrgq erlrumTLg)
. A) @u@:.burrsurrm WO ML (s 61T u‘rrg,mm_rrcmgsrr&, @@&@L‘D |
B) uedlurent LTESWLTS @)GULMT S |
C) . Gufiu serale smés senduin UPEIGHSHE
D)  @sophseney Qr_L, Sjemey umc&ru@ﬁ@@gme’\: L ssalloe sl QUUHSS @wrufn.l

A company using theecretical standards ing 2 siandjard. costing system should

 expect that
})/ most of the vartances will be.w_un-favour_able
B) employees will be unfavourable
C) alarge ihc.enti\-;e bonus will be paid
D) costs will be controlled better if loﬁer standards were used.

161. Qurmet 2 HusHlies @ peluUIGErHE Cud LusTLGSED Gurg &péeed

6ThG WTHLITOSET 2 (BEUTGLD ?

A) tpeliGummer allane @m@ﬁrr@
B) fpelQur@Get LweTUT®H Geunum®
C)  peuLrmss allaerey @G)i'@,lurr@

D) | @mﬁ@u’rr@eﬁ sevemey Geoumiur(.

© 335210 ’ . : [ Turn over
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Which one of the following variances arise when more than one material is used

ini the manufacture of a product ? |
A) ' Material price variance 1 " B) ' Material usage variance .
Q) J Material yield variancz_a D’)/ M.atérial mix variance.
162. g o Copolsaamea sabHLTE Counurl () euems
A)  pretemly CeupuT@ B) Oumss (Sé.;lgjurr@
C)  weulurmst Caupur® D) Q?u.l_@.&lﬁﬁsq Geupium (.
The type of variance which cannot be cor_nputed for factory overhead is
A)  Calendar variance ' B} Volume variance
i - , ;
/C) Material variance D) Capacity variance. |
163. @evru Cumssn Qﬂeﬂgio QreuefliLS Sieus!
A alpueen -Glu‘@%&ﬁmg, ‘ J/ B)Y T genl LILpsssens
C) Qurmer sﬁl[busmcg @elybd eldlgnb D) ‘_ @evruib. -
Profit / Volume ratio is an indicator of : |
A) the volume of salés B) the‘volumé of profit
C) " the rate at vwhlch goods are sold D}/ profitability. |
164. urgsniy uGdlew (Smtbu@gg,ul;l@mgj :
A) albueer CQUBESSS 2wt HEHS6
B) mrr@L@fn Glzveymaer GODHHED
C) ploeurs OFaasaner GanHee
D) Qleveu Senarggib.
335210
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The margin of saféty may be tmp_roved by . ‘
A) increas;ing-saies volume : B) lowerlné variable-f:os.t
C) lowering fixed cost : p) all of these.
165. aLé,é;aS\mm sabueler (ot e
l A) @eruseng Lé&ﬁuﬁaﬁﬁjg@
B)Y Qur@st Gmlenu mé\qﬁh_ Lg,cqgéo
C) ajl_éaaseﬁ]a»w s SHE_e B
D) alpusner aﬂésummu; it e Ole a_g,mgéo.. '
‘The main function of cost accountiﬁg is to
A] maximise profit ‘ ‘ | d
B) help in mvéntory va]uatioﬁ
9/ ascertainment of cost
D) aid in the fixation of sclllng prices.
166. s&saleme é]I;LLB]Lé}.&':@QSI&GﬂG'J W& &lundmes FID
A Gmog g:qa_éasaﬁlmw e B) eupey Qeeapdi L
C) ail,_éls,aﬁ]eme.; g,rr& o D) e;ﬁ_laﬂ-foq Blene ap_éaaafﬂéma).
One among tile most important t;ools ln cost planning is
A)" direct cost - | | ﬂ1/ -budget‘
c) co;%t sl;eet ‘ g ; D) marginal lcbstmg.

167. saflbamntg eiul L e allfleamen o sren_sdlu Cariy aeug

A) - priy Camiy ' " B) . ploewrer Gariy
. C)  eupsewrear Camiy L ¢ D) ebepe Carly.
335210 : i | Turn over
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A file which contains rules governM-g the orgénlsation under audit is known as
A) " current file .\ e /B{ permanent file
C)  routine file d _ D) .precedeﬁce file.
168. Spiy g;msﬂe‘semému.l %géw@@mgj
A)  pesrguflew uigHTse | . B)  ouwweps
(-:)' Qs | ' D) sLLG ugé]:jgarrqr'r&,eﬁ.
Special audit can be ordered by
A) Preferenceshareimldc_rs B( . the Central Government
C) “SEBI . , lD) Debentun.e‘holders. '

169. safsmaurert wrfi_fehs olaurhsoenyd oforssusoenyd Cal GUOLDID

2 flenwenw Quippyeirenmi 2
A)  Douokdlen aphengn S@Qé,@eawrrmr'rs.e"r
B) g @m&-@mﬁaeﬁ
C) - Boww sydarfaer
D) plpw S6ssaildbansumreni.
The auditor has a right to ask for mformat‘ion and explanation 'frqm t};é
A)  past auditors of ﬁle company
B) directors of the company .
9/ officers of the company
_ AD) internal auditm"s of the company. .

170. paer sexilbesurent wLryre HlublsstiL@amrr 2

A)  dpw uleurent | _ B)  fipw uh@kTeer
C)  How Cambpediurent D) Hpw QuEsHIGW. |
335210 | '
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The first auditors of a company are appointed by the

A)
'B)

C)

Registrar of Companics
Shareholders of the company

Promoters of the company

. P/f Board of Directors of the company.

171. sal&bee g g

A}
B)

C)

D)

seflbmsureriler Qembs CIC)

geNseaaurafler uaxflemamer Lfley Celuyb g®

& el &) 5 @@mmgéﬂﬁ&@ﬁ@ GaLl U Qup Gmﬁqm wpéfunrer Qaidlaeh
whpib eleréshsamer ufla Celuyd g@ | |

BG5S g@&,mén paféme Qelyb Curgl sa@lgds Sapeer whpwb
Senpaaner udley Geiyb ¢@. ’

Audit notebouxk 1s a

A)

B)
J

D)

personal notebook of an auditor

‘record of work performed by an auditor .

record of important points and enquiries which an auditor has to refer to

his clients

records of mistakes and errors detected during the course of audit of

account books.

172. gemisanawrerfiesr Qumrpliy ereTLg

A)

B)

C)

D)

335210

- @gufleown i Gid

@bpaluc b @Go -
egyfion sbwg Gbpaiud
@uuflegn wHpib/Sdkeag Gbnaiud.
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The liability of an auditor can be
A) onlycivil ~ B) only criminal
>

C)  either civil or criminal Iﬂé‘f civilland/or criminal.

173. &pasetor énjj)@&anm S :

L wHip Qelge
I eflurigge
O srerpriey.
@é¢Qeuaurpaeflen sfurer suflens ey
A) HLLI ' 3 13 85 | A
C) I, III, I RER | A P8\ g . . 9
Consider the folloﬁving activities : .
E Valuation
II. : Vertfication
[lI. Vouching.
The correct sequence of thesé activites is
W
?) - L L 11 . B) oy, 11, 1.
C) I, I, I | D) LI, 1
174. Spéaeon %sﬁm@amm s : |
1 g,mﬂéasm&; g0
I gadféeans b
IIi. sllbans 2h&Hes
V. gpaisens Cariy.

pedlaemaurent gurt Qebyd syeuemmhseier sflurer aiflos peapurerg

A} LILII IV : ' B} ILL I, IV
}F{//H.LIV.HI D) 1LV, HI
335210
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Consider the following documnients-:

I Audit notebook
1I. Audit programme
1.  Audit report

IV. Audit files.

E

The correct sequence in which an-auditor prepares thése documents is

A)

LI I, v B) II,IHLIV

/ca/ I, I IV, I ‘ D) LI IV, I

175. Hipio safsmsurenilar uaiamar LD Q&u‘.xeugj

A)
B)
C)

'D)

a{@muq (PEOD B 6116010
QlEwe(PenD By ELIGTDID
Bloné s b 1956

Hlipiod wHpIb sechiéeswrearfien Guurer ULBSD.

Duties of-a company auditor are defined by

A)

B)

Memorandum of Association

Articles of Association

/ Companies Act, 1956

176. pemi&amsiumentt,

Agreement between company and the auditor.

eTeonién, aqsur‘f :
A widu sy Bublésiu@et
. B)  Qusgent BpeIT f,\m@&aﬂu@mm’r
C) ukEBTHeTTe nﬂuJL&éj-.&;lhu(Dsum'r
D) ar»fq@ucoﬂé& E:I'_!_ arfluggre Fublésiu@eat.
3352 10
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If a}l auaitor, not appointed at annuél general meeting, is appointed by the
?{) Central _G'overnmept
B) - Board of Directors
C) Shareﬁolders
D)  Company Law Board,
177. fpiyp seflsesurerany Hlunend Claloug
Ai urfﬂ@[gfr&;‘dr
B QubesTt @
C) eowvw e
‘- D) -sibCLrerf bppid gL LT QgpeTye.
A Special Aucﬁtor is ap.pointcd by the
; 'A} Shareholders
B) ) Boérd of Directors
. j./) Central Government
D) Comptrollef and Auditor General.
178. sy spfleald, gafsamaurat Qar@uug el
A) gy '
B) s@sa
Ci' . Gabgmeale &_rﬂﬁﬁs&rqmwe‘h&mm 2_Gdlyeurgid
D) e @oeowbhlene yblsans. a

-In his report, the auditor gives his

A)  judgement

o~

| ﬁf opinion

C) guarantee to correctness of accounts

D)  true state of affairs. -

335210
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179. 9@ geisoaureniar  @qufiawod Gurpiy  eeg -« G Bgrer  syeufle
Qurr@_dsmué, @ﬂéﬁ@fb -
A) QTéHss eveur e |
B} s0%&6 DHUTL.R
C) QGumsyg
D}  Sleudleresren.
Civil liability of an auditor implies liability for
A) misappropriation of cash
B)  misappropriation of ‘goods
C) fraud
D)//mlsfeésance.
180. Quiflu Bigieuas ¥iken 5 B &G 6% s.‘G_.rc?l 5508, (1D ClEE&IdIrs @grrgy ?
A) @@L‘Jué\ms\)& GOILS HeNéens
B)  smepmiey wpmid Cbegu setiléams
C)A QgTLi gevléams
D) 2o s & s .
Which of the following systems of audit is not suitable for large firms ?
A)  Balance sheet audﬁ
/\;()//’.Vouch and post audit
C)  Contimious audit

D) Internal audit. ‘ s | -

335210 ' . ' [ Turn over
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181. wrhp Qupesfles Quust @mgﬁ] G\&lﬂwﬁu@ﬁj Lt THDD GUb
— A) Qurrii.ru.lrre'.ur Lﬁﬁrj)ggfn B) Gumsg wrhpbd
- C) e LSS Géers wThpb D) Ceubry wTHPID.

A transfer of shares, without the name of the transferee is

A)  Forged transfer B)  Forgery transfer
Cy Blink transfer 7 : Q)/ Blank tfansfer.
182. oo sefliu L Gopréssdlpers o elururgsdlda 2 amamwaameriupdl alsryae
Qelieug ; -
A)  paléos B) yeeirley l
C) | gmespmley D) 3&& Gergamen.

" An inquiry into facts of a business for a spg_clal purpose is
Ay Audmﬁg ) ' " BT lnvésﬁgauon
C)  Vouching ' D‘) Internal checking. .
183. COBOL Guwmfhllés uminy A aﬁom@ alleflioy A Gésasdler semubnees Gaean@h
A 12—72 B 7 | "
© 7—11 x D) 8—11.
In COBOL language Area A or Mafgin A must lie in the fleld
A} 12278 | | BIC 7
¢ 7. | T TS,
184. COBOL &l& @uetor® evg filigaanst @lenemorsat umsﬁm@ﬁg.ﬂu@fn allemans Qamen
: A) CONCAT ‘ _ B) STRING -
C) JOIN : © D) STRCAT ().

The verb used to join two strings in COBOL is

A)  CONCAT Ety/ STRING t
@) -JOIN - D) STRCAT ().
335210
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185. COBOL &flév & flpge Q&ﬁ.lmgsqbg.rrasu LweTURESLUED Spays Gere
-A) SUB y B) SUBTRACT
C) MINUE'; D) | LESS. |
The keyword used for performing subtraction in COBOL is
A) SUB = oW }r‘ SUBTRACT
)

. ‘LESS.

C) MINUS _ D)
186. FORTRAN & (g eveuds sreoriles Lwau@ss Seuctongw é]gosqé Qlgmé

A)  DISPLAY ' 1;./ PRINT

C)  PRINTF - . D) SHOW.

To display the rgéult, the keywor!:i used in FORTRAN is

A) DISPLAY "B} . PRINT

C)  PRINTF & D) sHOW.
-.187' (éunﬁLmeﬂeb, T %Ggﬁé\) 2_éften 5 cugl salenend @HILUG

A}  Al5) ‘ . : B) A(D)

C) BA l ' | D) AS.

In FORTRAN the 5th element in ran array is denoted by |

A)  AlB] | . )3‘)” A(5)

C) 5A a D) AS.

188. ugdlerr Seitansdlés @ pious GHUILD LUETLESSILED Seud amslioars
GLARNIC

A) INT . ~ B) INTEGER
CcY’ REAL - D) NUMERIC.
7
335210 [ Turn over,
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Specify the data type used to denote a decimal value :
A) INT | B) INTEGER
/(j REAL ¥ D) NUMERIC.

189. Guilade, @diuenr eurf) @éﬁpmé Qa—rrsiagul_eh Qigm_me Geucst@id

A) REMARK | ' "By % |

) v | D) REM.

"In BASIC. the comment line should begin with the keyword
A)  REMARK | B)
e

C) i ,P‘)" REM.

190, GUA&AG Heoreows &an Gelw LusTURSSLILGD 25576
7 A) CLEAR "4 B) “CLS

C) '~ CLRSGR() =ht D). | CLEAR SCREEN

The command used to clear the screen in BASIC is l

A)  CLEAR X B " os

C) CLRSCR() D) CLEAR-SCR,EEN.
-197 1. Guéladld, Guést Laeallel®hs @(r_r, alugseos gone Q&n;feﬁen

A) 'iNPUT . ' B) READ'

é) GE'F N D) ACCEPT.

To accept data from the keyboar‘d'in BASIIC. the command is used as

A) INPUT T /B)/ READ

C) GET ‘ D) ACCEPT.

335210
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192. Lrefldlér ( Tally ) o sfen g sbOueflow $5s LuaLPSsILED uadlé sralows

NG
. A)  Del | o B) Ctrl+D
aﬁ Alt + D . ' ‘ ' .D) Alt + Ctrl + Del.

Specify the function key used to delete a company in Tally.
A)  Del ‘ B) Ctrl+D
)7{ CAlt + D B | D) Alti-Cfrlf.Del.
| 193. @\ q%mﬂé'&naﬁlmmu ums&ru@;’;’,é) SHERTHGSH Hrevgend MHPD Gl 1pigyb

A)  Alt+F2 B Ctrl + F2
C) F2 : a D) F3.
The accounting period can be changed u-sizig the function k»ley

?«Y/ Alt + F2 "B) Ctrl~-+F2

C) F2 L D), F3..].

194. m@élu ‘uélcqeseﬁ‘ LD &Tibhs @Lsuq.é,as)§,5meﬂﬁ udley Gaiw Geuedorgu smepy

A)  JOURNAL | |
B) RECEIPT
C)  CONTRA
D) . PAYMENT.
Trangsactions tnvolving only lbank en&ies should be pgsted in the voucher

~A)  JOURNAL
B) RECEIPT

: 79)/"CONTR£I\

D)  PAYMENT.

335210 ' [ Turn over
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195. Cuwppid D der wliyseen &b 2. sferuyg. eandlégs Clamer :

£ ' D
PIC 9 (5) : PIC 9 (3)
¢ | & 7.1%i | 9 4 | 4 | 4

C deflphel D swreon agub petaa Qeudu@sdu Ner D et wiy aerer 2
A) 749 B) 874
c) 087 D) 8749

Assun_:xe the value of C and D as follows :

c D
'PIC 9 (5) PICO (3]
o | w47 3% 9. ) 4 | 4 4J

What is the value of D after executing the Move Cto D command ?
I',I }% 749 ‘ B) 874
- C) 087 I D) 8749

196. R0 Qusss &i\f_n_g'g,a»g;u pigwelle Qma’nu@&guu@m 2 557

A). Dir B). List

s e D) - Contains.

'i‘he command used to list a programme is |

A) Dir | ,B‘)/List |

C) L D)  Contairs.

335210
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197. ﬂmm@mmmm@m ahg 2 570 ubam®p CFudULED Heverey Lorrrﬂuﬁlasr Quwrt,

U, ey Hd Hlavey 3, Slweuphenpé &nmxﬁ]&,@m ?

A)

C)

g euflGeu suig Qe ' B yeuilGe
geufGev Qunioif] D)  edleuL.

Which one of the following command shows the name, type, size and status of

each active memory variable 7

Display structure - B) Display

/Z)/ Display memory - D) List.

198. ubpré&GDOWS SHID UL IGWe

A)

c)

L gqué A | B)  uliquié H

ulgue D) ulgué G.

Deficiency is gfven in

A)

Q)

o

List A : Bl ListH

List F D1} List@s|

199. Uhguiy Hlmuol ereruig

A)

B)

C)

D)

Geoupy Hlipog e @qmsﬁt&@u@@&@mu{tb mm&@sﬁm Iﬂ@]LDl:D

G Jévevg| g;g,rp@ (BI.DDLJL_l_ l_ﬁ@]tormesﬁﬂm @u@murrasr@wwrrsm U@ & emr6m

UG gieten Himuob -

SIBHDIDS S & HLOULGSSID eralh@ Ceuaong QLkHDbUTESTENOL Uk Hener

eneugieTen mHipuo

gfiurs 51% g8b UGS eeubgeren HIMLO.

A holding company is one that holds

A)

B)

o

D)

335210

the whole of the shares of another company

majority of shares in.one or more companies
¥

exactly 51% of shares.
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méjonty of shares so as to have a controlling lnterest in such company
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200. EpsaaL ambdluismens soue ;
gapmy(A) . @UrETReGst CEaissiul Geuergu FLaT srg,jsqﬁ."[basﬂ_@mg)u
' ' QuIrpUUT&HS HEHSLLED. |
sryesord (R) @@ Boustt  euTLwmms QaTaipse  Waopwile G}_IFHE}E:ILILI_I'_.E_Q];
. g Lenqurs . 5,000 G\&gug‘,g;uuf_l_@. agpFlug 11 wres
poumemsaile Cewiss Coammqusg. @& HOLpaDs QUIRILILTEHS
HmBHULL_(DeTerg). ’ o
£Cp @Pni Geiren @B g eflumar aleLows Coinbed :
A) (A oo (R) Gt s, Cugud (R) sreiugl (A) eflibe eflure éﬁlsné-,a,fo
B) (A) wHmid (R) GiresorRip &1, @Lbyin (R) eresigy (A) el eMlwreast allendaibeoes
C) (A) efl. gyemed (R) gaip
D) (A) seuml, gemes (R) sifl.
Consider the following statements :

Assertion (A) : * Any amount of léan payable within a year is treated as current

liability.

Reason (R) : A van was purchased on hire purchase basis : a payrhent of
Rs. 5,000 was made immediately and the balance to be paid in
11 monthly instalments. It has been treated as current liability.

Now select your answer according to the coding scheme given below :

' /A} "Both (A) and (R) are true and (R) is the correct explanation of {A)
B) Bot'_h-{A} and (R} are true, but (R) is not the correct explanation 6( (A)
C) (A) is true, but (R) is false

‘D) (A) is false, but (R) is true.

335210
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